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24 123
5t . T8
1. " The formula of baking soda is : 1. Afee wreT L (b) K,CO,
(a) NaHCO, (0 K,CO; % (a) NaHCO3 @ NayCo,
(©) KHCO; (&) Na,CO, (c) KHCOj3 ,
2. CPR stands for : (v E)J 2. CPR (;ﬁﬁ'am') i Wﬁ?ﬁ
(a)  Cardiopulmonary Revision! (a) WW ,
(b)  Cardiopulmonary Rc%uscill}uon o ortio) (b) W
(¢)  Cardio Programme Rescue e (©) TS ST <
(d) Cardiac Pulsatile Revision (d) i TeHeTEe
: IS Jad W& I8q
3. The only vein that carries oxygenated blood is : 3. G W; farr <t i = e g,
(@)  Hepatic Portal vein (b) Cardiac vein Ve eI @ : ;
, BN Cardiaey %&ﬁamﬁéafim (b) FET
(¢) Pulmonary vein _ (d). Cystic vein (a) i faftes R
4 Diabetes is the t dy' d iated © i . R 2, et
: abe most common disorder associa
with : 4. n‘aﬁﬁﬁ%@?%ﬁ“'” B . B
(a) Pancreas (b) Liver v (a) Wg : ®) R 3
(¢c) Kidney . () iGéll bladder (c) THHE @
Sifire-19 e %ﬁ T e
5. The recent global pause durmg GOVID 19 pandemlc 5, TAAH 19 T Kl
was caused due to 2 HTE : :
(@ MERS-CoV-2 (b) ngARs ~-CoV2 () MERS-CoV-2 (b)) SARS-—CoV-)
(c) SARS-CoV-1 (d) {HiNI (¢) SARS-CoV-1 ~ (d) H5NI
6. A bus covers the first half of a certain distance with |6, U 5 T fif=d E’ﬁ T TRt e aﬁ Vi T'ﬁgm
speed v and the second half with a speed V,. The h{d I%H%TT@FH?HIQI ERQTVZ ‘Tﬁf@m 357\?“ 2l qﬁ!ﬂ?ﬂ
average speed during the whole journey is : T 5 bt 3T Tfer &R gt 2
vi+ v :  Ea VitV
(a) A ’Vl V2 (b) 1—22’ (a) Vl V2 g (b) )
ViV 2 v,y v: : vV : 2vv,
© —= @ 2 , © — @ —
V] + V2 Vl + V,2 Vl + V2 Vl + V2
'g.::’ '
7. Plants and animals that live on‘-;:l:'zi"nd are called : 7, sqiz\:[q-{v\g%faﬁcﬁg} I SR T FEelTd g9
(a) Biotic o (@ S
(b) Terrestrial habitants gf"g,g ' (b)) T et
(c) Abiotic M v (0 onifee
(d) Aquatic habitants N (d) Siefrr et
8. The joint where the neck joins the head is : 8. aﬁﬁ‘e’aﬁﬂé:rﬁz@rﬁaaﬁ% :
(a) Balland socket joint  (b) Hinge joint G (a) Eﬁ?f@(ﬁ%z@’s' ORRESEILS
(c) Pivotal joint (d) Saddle joint (© o d) Jsese
9. The disease-causing microorganism among these is : |9. m@@%mwu&ﬁa%
(a) Protozoa (b) Bacteria > (a) WIS (b) SFAET
(c) Archaea "~ (d) Pathogens (c) Afkam () oy
10.  Milk is an example of : ' 10. ?Sﬁﬁﬁﬁﬂ“ﬂm% ?
(a) Emulsion (b) Aerosol \/ (@) SHeIM (b) W E’]ﬁ
(c) Foam (d) Sol () wIg d) dra Ok
kT e
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Consider ?hc following cvents and arrange them in
chronological order |
1 E',g@.

5 . fai

3. World No Tobacco Day >0 ©

4. International Day of Light

Select the correct answer from the codes given below :
(@) 4,2,3,1 (b) 2,3,1,4
© 3,1,2,4 @ 1,4,2,3

World Heritage Day
World Thyroid Day

Match List-1 with List-1l and choose the correct|

answer using the codes given below the lists :

List-I List-II
(Person) (Reason)
A. Gopi 1. First Indian Gymnast to win
Thotakura Gold at Asian Championship
B. Dipa 2. Indian born NASA scientist
Karmakar who led the team to study
solar ecliptic impact on
ionosphere
C. Aroh 3. First Indian Space Tourist
Barjatya

British actor who made his
directorial debut with thriller

D. DevPatel 4.

“Monkey Man”
Codes :
A B C D
@. 2. 1 .34
(b) 2 1 O
(©) 1 2 3
¢) ® 2 O

Given below are two statements, one is labelled as

Assertion (A) and the other as Reason (R).

Assertion (A) During 2023 —24, Singapore

emerged as the largest source of FDI to India.

Reason (R) : The India — Mauritius Tax Treaty

amendment has brought a major shift in countries as

major sources of FDI to India.

Select the correct answer from the codes given below :

(a) (A) is true, but (R) is false.

(b) Both (A) and (R) are true and (R) is the correct
explanation of (A).

(c) Both (A) and (R) are true, but (R) is not the
correct explanation of (A).
(d) (A)is false, but (R) is true. -

13.

@ 42,3 ®) 2,314
(¢) 3,1,2,4 @ 1,4,2,3

Hjﬁ-lﬁaﬁ-ﬂﬁgﬁ%ﬁmﬁgﬁﬁ%ﬁﬁq |
Ty T ARG I
Hj’r—l : Hﬁf—lI

(=) (@)

A, i s 1. e S e e

5. T i S NASA ST
forely Tmer-Tied W
TR 35 T Sl ST
Tt I T e TR

3. TEe A A e

4. fofo v R forert “wiehl.
B 3 ey e o eI

(a)
(b)
(©)
(d)

ﬂ%ﬁmﬁj@qm%ﬁﬁ@ﬁu&m(mw
FAUH FRY(R) FEFE |
W@;:zm—m%a{mﬁm@t,mﬁml
T (R) AT — Hir oy gt & o
yerey BRI (FDI) & Yq@ @l & &9 3§ aw A
ESECTICEGIDIR

For Ry g e # & W SR

@) (A)TEFIER TEe

(b) (A) T (R) I T & AW (R), (A) FT Ft
AT FATR |

(A) 71 (R) 31 T €, TR (R), (A) T &R
ST 78T L ¢ |

i—-lb—iw[\_))—‘w

A
2
3
4
5

NN =LA
B N N N
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Jot T h
@ With reference to the 7™ India - Indonesia Joint | 14,
Defence Cooperation Committee meeting, which of

the following statements is/are correct ?

1. In this mecting Indonesia agreed to enhance
collaboration in the arcas of defence, industry,
maritime sccurity and mlklliigalcml cooperation.

2. This meeting  was l\\flld at  Jakarta on
May §, 2024. &

Scleet the correct answer fromithe codes given below :

(@) Bothland2 = (b) (A'I)nly 1

(¢) Only2 (d) ‘(‘!\I?cithcr 1 nor 2

“FWD 200B”, which of the

following statements is/are correct ?

1. This is India’s first indigenous bomber ““UAV”’
aircraft.

2. lts payload capacity is 100 kgs.

Select the correct answer from the codes given below :

(@) Bothland2 " (b) Only!l

(c) Only2

With reference to

With reference to “India — Australia Economic

Co-operation and Trade ‘Agreement (Ind—Aus

ECTA),” which of the foll'b,”lng statements is/are

correct ? g::;'

1. This is a first-of-its-kind.initiative of FTAs.

2. The meeting was attended by the Commerce
Secretary of India, Shri Supil Barthwal.

Select the correct answer using the codes given below :

(a) Both 1 and2 (b) Only1

(c) Only2 (d) Neither 1 nor 2

Match List-I with List-Il and choose the correct
answer using the codes given below the lists :
List-I List-IT
(Joint Exercise) (Dates)

A. India — Uzbekistan Joint 1. February
Military Exercise, 19-27,
“DUSTLIK” 9} 2024

B. India— France Joint Mififaty 2. May 13 - 26,
Exercise, “SHAKTI” i"‘\} 2024

C. Harbour phase of Indo —Q;U!S 3. April
Joint Exercise, Tiger ;‘/] 15-128,
Triumph, 2024 ™l 2024

D. MILAN, 2024 4. March

18 -25,2024
Codes :

A

(a 2
(b) 4
() 3
3

(d) Neither 1 nor 2 16.

17.

DS.TF-1-23.
e e — $SRIET e T W A o AHE
et i Prerfafer # & F-anA F 2
I, v@ 3o i SOnRmE ¥ v, S, el g
e W ¥ At § weedl e W HeHd
s |
2. e 5 7E, 2024 Y STt H AR I )

3 Ry e & e I R
@ 1323t (b) FHAI
© Fae2 (d) FA1TE2

WD 200B" 3 gt i Frfad i & BAAA oy
w2 . ]
| 7 e o e TR aeeden “UAV” femm g
2. guddeie g 100 eI R 1

) feg Mo e & & W SE AT
@ 13R23F () FE1
(© W2 (@ TH1H2

(nd — Aus ECTAY & w=f # Frafofan 4 3
Ay o 27 2 ,
| w% FTA (@F2T) % fau 3l @@ hi veeh

wE R :
2. o 9Ra % atvrsa wtua o et sl Y

T feram | :
3 g e e # F WE SRR : E%%
@ 1@ () ¥l ER
€ Faw2 (d TAIAE2
tgﬁ-laﬁaﬁ-llégﬁ%aaﬁﬁmaﬁwﬁﬁi%ﬁﬁﬁq
T % <hT SRANT WA S A :

eI N oy R

A, VIRQ — ISR BIh &1 1. W 19 27,

I, “THfAH” 2024
(DUSTLIK)

B. ¥ — SiH W A1 3TV, 2. W 13 — 26, 2024
“qifF” (SHAKTI)

C. . YA — TIRh Teg STaNERT R 3. 31 15 - 28,

T T, TETR ZAFR 2024
(Tiger Triumph), 2024 =T ’
eI =0T

D. T (MILAN), 2024 4. W1 18 - 25,

2
ik 024
A B C D

@ 2 3 1 4

® 4 2 1 3

© 3 4 1 9

d 3 2 4

foll
1.

2.

Select the correct ap,
(@ Both1i and 2 (b
(©) Only 2

19

3

)

-~ With refere

TN

1Ce 1. Shaksgan

: tatements 1 are
This valley is 5 strateg
of Pakistan-occupied K
I.ndia has lodged
mﬁ‘astructural develoy
by China in this valley

swer fror

OWing s

(«

g: - Whick.\ one of the follgw
. Peculiarity) i€Goz correctls

(@) Depth of upper trap

(&) Depth of lower trap
(¢)  Depth of middle r:
(d) Tntertrappean beds

Given below are two
Assertion (A) and the
Assertion (A) : Jet st
War If are high altitug
Reasom
300 — 500 km/hour,
Select the correct ans:
(@) (A)is true, but
(b) Both (A) and
correct explan
(c) Both (A) and
explanation o
(d) (A)isfalse,t

Match List-I wit
" answer using the

List-I
(Country)
A. Spain—Frar
B. Switzerland
C. Bulgaria

D. ltaly

Codes :
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This valley
of Pakistan-

2. India has against  the

infrastructural development being carried out
by China in this valley,
Select the correct answer froy
(@ Both1and2

() Only2

IS a strategic key region, that is part
occupied Kashmir (PoK).
lodged  protest

n the codes given below :
(b)  Only 1

(d) Neither 1 nor 2

19.  Which one of the followine pai

Decean Trap —
Peculiarity) i(ror correctly matched 9

(@) Depth of upper trap - 450 metres @

approximately
— 150 metres
approximately

— 1200 metres
approximately

(b) Depth of lower trap
(c) Depth of middle trap

(d) Intertrappean beds — Fossils of sea plants

and animals 20.

20. ) Given below are two statements, one is labelled as
Assertion (A) and the other as Reason (R).

Assertion (A) : Jet streams discovered during World
War II are high altitude easterly winds.

Reason (R) : Jet streams flow with a speed of
300 — 500 km/hour. :

Select the correct answer from the codes given below :
D (@) (A)is true, but (R) is false. -
(b) Both (A) and (R) are true, but (R) is not the

correct explanation othA). ] .
(c) Both (A) and (R) are true and (R) is the correct
explanation of (A).

(d) (A)is false, but (R) is true.

Match List-I with List-II and choose. the‘ correct a1,
answer using the codes given below the lists :

List-T List-11

(Country) (Mountain)
A. Spain - France 1 Alps ' O
B. Switzerland 2 Apennine
C. Bulgaria 3, Pyrenees
D. Italy 4 Balkan
Codes :

A B C D : E%Eél
=14

(@ 4 1 2 3 ,
(b) 2 3 1 4
0 3 1 2 4
@@ 3 1. 4 2

\lelth reference td Shaksgam Valley™ which of the | g,
ollowing statements is/are Correc
L.

19.

DS.TF-1-23
g T %Wﬁﬁﬁﬁ%@ﬁﬁ@‘ﬁ-mfﬁ':

N,
szi%;%ﬂ orifes w7 & meEq & %;;ﬁ
2, e g o i e g R T g
|y Pemw R R |

1SR 23
8 ¥ad2 » (d TA1AE2

e et ey 30 — fad) & @ e
il 72t e 2 §\} i |
(1) IHUAIARCE -~ AT450 |
(b) Fedudides - o 150 Hi 5
() THMHHARE - ammuooﬁa :

(@) diFmeEdaa - awdE e s S

3 AT (SIATEH)

qﬁ%aﬁwﬁqmiﬁﬁﬁwaﬁaﬁmﬁ@w;i

T T BT (R) FET TR | . ,
i (A) : fidr fowa g 3 Ao @t e
ST, St Ty Lok ey aTeht Ot e ST e ¥ |
HTI‘(U';(R) :é%éiﬁéraﬁaﬁrmnﬁrsowsooﬁm"rq&r

Aoy s

Zrak s {h

|

it i

(4) W ¥ iy (R) T

E:)) (A) 3 (R) IHT &= 3, B (R), (A) T &=t
ST g e |

(© (a) 3R (R) I W E I (R), (A) F TR
ST AT 8 |

@ (AT, g R) TR
-1 =1 i1 & gAfer shifer i gt o i fo

T e T TRINT T el ST T :
g1 A1
fm WD (i)

. n’”}
TR 1. AR

‘Q' mﬁaﬁ@g’ > 2. WA

o i i

C_ m {"«,“g 3. X

D. et V) 4, AT

' 4l :

FC
A B C D

@ 4 12 3

b 2 3 1 4

© 3 1 2 4

(d) 3 1 4 2
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™ A s g & 13
Match List-1 with List-Il and choose the correct|22. ’éﬁ?—lﬂ%lﬁﬁﬂﬁﬂﬁfﬁﬁ ﬁ:q

answer using the codes given below the lists : W@mewwaﬁq g

List-1 List-11 L0 RN aiﬁ-nj

(Name of the City) () (Period of being (.?'IBTETW) 3 (Zﬁ?FiT WW&:’?W])

:ti Planned) TR EFIEfTQ'UT o Eﬁi’iﬁ?ﬂ'm W . ‘
A. Kanchipuram r-"jl Post-independence B, é‘HFTﬁT 2 i“ﬁlﬁ‘ ﬁﬁ"”"f W el | d
B. Jaisalmer ;{:)& Colonial Period p 3 W ‘
C. Kodaikanal {"B. Medieval Period , o R S P il
D. Bhilai 4. Ancient Period D ﬁﬁﬂﬁ " ; -‘"4"“ WW g
Codes : o @‘ | . |
@ 3 4 1 2 i @3 o 2 | ‘ E,E’
d) 4 3 2 1 . RIN i “‘(c),“,‘2. 3 . 4  .l‘ » ‘
‘ o)y 43 “2‘ 9 Nt \

D ; ! 3 A
Match List-I with List-IL and choose the con‘ect i
answer using the codes g1Ven§below the lists: .+~ a%ﬁ 1 ﬁj‘ﬁﬁ 1 ﬁ Eliliélil IS Iaﬁ( ; l I l %ﬁﬁq

List-T Iﬁ‘st-lI B e Waﬁwmwm"rwaﬁq o
(Famous Local Q’lgce/Area) : L s ;Ffﬁ-l | : o H“?fr-ll L
Storm) s ‘ y | ! b WWW) | (?W/c??%') 5
A. Mango shower 1. Punjab to Bihat A Fagt. ‘ l. W@ﬁ%ﬂ'ﬁ “7
B. Blossom shower 2. Kerala T i B. qﬁwm 2w A
C. Norwesters 3. Kamataka Cbastal Areas C. Fr-SarE 3. el o
D. Loo 4. WestBengél D q 4:  ofym e
Codes : ‘ %z
i B e by A B ' C D
A i @l gy
SRS :}% (b), i3 w2004
© 3 2 1 fn
@ 4 1 3 0 U)Wy
i Sl T T
Which of the following pairs is not correctly :
matched 7 24. Pt & A o g vy
Capital Country . T Zor
(a) Ottawa — Canada (a) SferET = dEr
(b) Dublin — Ireland « (b) TEfem . - ol
(c) Naypyidaw —  Myanmar (c) ATUEAET - ®MER
(d) Khartoum —  Ethiopia (d T ~ gt
~-*6* """"""""""""""""""""""
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(b) State with largest area

Ma -
tch List-I with List-I1 ang choose the correc
answer using the codes given below the lists e
List-I List-11 l
(Canals) (Rivers)
Upper Bari Doab Canal 1. Sutlej
Sirhind Canal 2; Yam.un'l
Gurgaon Canal 3. Sutle; :
2 i - Sutlej, Ravi
Indira Gandhi Canal 4, RaviJ ks
Codes :

o0wp

@)
(b)
(©)
(d)

(e S S
1O — — — =

— WA

D
4
31
2
4

Which  one  of  the following
(Crop — Peculiarity) is not correctly matched ?
(a) Isohyets that decide — 100 cm
western limit of rice
production

pairs

— Uttar Pradesh *
under rice production

(c) State where rice is grown
three times in a year

(d) Bihar’s contribution to -
rice production :

— West Bengal

15-7%

@Consider the following statements with reference to

y

cotton crops :
1. Cotton is mostly a Kharif crop
2. Cotton crop requires moderate amounts of
rainfall varying between 50 — 75 cm annually.
Which of the above statements is/are correct ?
(@ Only2 (b) Onlyl
() Bothland2 - (d) Neither1nor2

Given below are two statements, one is labelled as
Assertion (A) and the other as Reason (R).

Assertion (A) : Red soil denotes the second largest
soil group of India.

Reason (R) : Red soil surrounds the black soil in the

Select the correct answer from the codes givené)egw :

(@) (A)is true, but (R) is false. 20

(b) Both (A) and (R) are true, but (R) is not the
correct explanatlon of (A).

(c) Both (A) and (R) are true and (R) is the correct
explanation of (A).

(d) (A)is false, but (R) is true.

25.

26.

27.

28.

 (a) TS Jeared ht aye! -

DS. TF—1-‘23‘._3
t@wﬁgﬁnﬁ@ﬁm@ﬁmﬁwﬁﬁ%ﬂéﬁl\

U e 2T T o W) I T

T g

) ()
SRR E 3 LR

WFE»’E‘IET “;ij" g

TEITRE TS, T, AT
e miiedt e et

W il
EEC I SR

o 0w
237
-t

[ S

A
(@ 3 ,
(b) 4 D
© o
@ 3

k\.)r—A»—an

=W DA S

AN W ST
[5]

fefafen i (waer - %M)ﬁ@rﬁqmaﬁ

‘v‘lﬁﬁfﬂ:{gﬁ‘%')

100 Bt
i frerifta e areft
ECLIReC| ,

(b) NI IeqTEH FaTef L
Haia&[ﬁ?‘dwe MRS

() T ?ﬁ’f‘b‘ﬂﬁ i

(d) Tt SeTe 3 R T iy
BluHES ™

%

I T

*54,;- oy

triﬁwaﬁna

15-7%

mwﬁ%wﬁﬁﬁ%ﬁmwﬁﬂn

#HifT ;

1 O JEa: T e S |

2. U % 3G % foiT e 50 ¥ 75 A o
. W O Y SAETEhaT B 2 |

I B & HIF-HA F T 2

(a) A2 (b) a1

(€ 132z (d) JTa19€2

:ﬁ%awﬁnm%wﬁqﬁﬁ@ﬁa&mm)w

fe%aﬁm(mmﬁm%l

ATURAT (A) : SRS, WA O T T 7T T8

HIemidr | N

FHIOT (R) : AT &, hrett et A <feqwr, o it 3w

Rmaia fgrd |

ﬁ%ﬁqw%ﬁ%aﬁwaﬁﬁ

@ AT, ﬁa?f(R)ﬂ?lﬁ%l

(b) (A)afR(R)avha-a“r% & R), (A) F T
ST 78l AT e |

) (A) 3R (R) I & & AR (R), (A) FT T
S HEE |
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““Nepal = India - International
", which of the following

With reference  to

Sanskrit Conclave - 2024°

statements is/are correet ?

[

[
I, 1twas held at New Delhi,

2. This threc-day concl:f;'“& was organised by the

Niti Anusandhan Pmu;s'l"lian.
Sclect the correct answer frofi the codes given below
N
(b) “Only 1

Neither 1 nor 2

(@) Bothland2 -
(c) Only?2 (d)

Polar Exploration
of the following

With “‘Lunar

Mission®’

reference  to
(LUPEX),
statements is/are correct ?

I This is an India - Japan partnership for their
Joint moon mission which shall be launched in
the future.

JAXA is responsible 'f&‘ developing the lander
for the mission, wh1le"']SRO is handling the
rover and launch vehlcle

which

[

Select the correct answer frorrnsne codes given below :
(@) Bothland2 - (b) §Only 1
(c) Only2 (d) Neither Inor2’

With reference to “‘Guidelines for Elimination of

Corporal Punishment”> (GECP), which of the

following statements is/are correct ?

l.. The Tamil Nadu School Education Deparfment
issued these guidelines on 26™ April, 2024,

2, These guidelines are focussed on safeguarding
the physical and mental wel] -being of students.

Select the correct answer frohﬂhe codes given below :
e
(a) Bothland2 (bS “Only 1 Iﬂ%ﬁ

(c) Only2 (dy~ .!Nelther I nor2
f*

32. With reference to “FLY91%“yhich of the followmg
statements is/arc correct ?

1. Itis anewly launched airline in India.
7 2.
i Select the correct answer from the codeg given below

(a) Both1land?2 (b) Only 1
(c) Only2 (d) Neither | nor 2

Its inaugural flight took off from Manohar
International Airport on 18th March, 2024.

e R (©)

29.

30.

31.

32.

DSTF123
G sl GEPT Wi _ 200
Wﬁmﬁﬁwwﬁmwg E)
| g faectt TR AT o
; %mﬁmmﬁm%
| e fT T AT R
@ 1fF ©
(¢ 2 @ T@17d,
e e TR R () 5 iy
ﬁﬁ%@ﬁﬁaﬁ?—mfﬁmﬂ‘é%@?
L WW W%aﬁamﬁjﬁ?ﬁ%_m
i, Jmﬁsﬁ%%néaﬁﬁam%m
%tﬁm%,aa%lsmﬁawﬂwﬁa%ﬁ
GAAETE |
Frr R g e # & wE S
@ 13fR23H (b) Faw]
(;;)' FaeT 2 @ Td178
Wﬁm%mﬁmﬁﬁw (GECP) ¥ gt
# Fefafed § § F-a18 Fomad 3

1. 26 3T, 2024 T ARIETE S e 34
feam-fder st fop |

2. A feenfrdy st % i st e we

G RFFIE|
@@ 13R2eHr (b) Fad1

(c) waw2

“THCEETE 917 (FLY91) & g # Fmfeifiad 4 @

I/ T T /3 9

L % R #f gy o g 7 TR €|

2. TR ueeh gem 18 W, 2024 H FE
sl g g A TE T

(d) TFar17g2

At R e & e e
@ 1af2ddr () @]
Ha 2 (d) 7172

-
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DR

(a)

Yy o

(©)

Vaceine against AIDS developed by Bharat
Biotech Internationg]

Vaceine against AIDS deve

cloped by Scrum
h]\lllmg of Indig

Vaceine againg Malaria developed by Serum
Institute of India

{
(d)  Vaceine against Malaria developed by Bharat
Biotech International

M. Who
i the Un Certain Reg

S Film Festival, 2024 9
(@) Sobhita Dhulipala
(b)  UrVashi Rautela
(¢) Kiara Advani

ard category of the Cannes

(d) Anasuya Sengupta

35.
@ With reference to RudraM-II Missile, which of the

following statements is/are correct ?
1.

)

L.

It is an air-to-air missile.

It was tested in Rajasthan in May 2024.

Select the correct answer using the codes given below

(@) Bothland2 (b) Only1

(¢) Only2 (d) Neither 1 nor2

36.\ Match List-I with List-Il and choose the correct
answer using the codes given below the lists :

List-I

List-IT

(Newly Elected Head » (Country)

of the State)
A. Gitanas Nauseda 1. Iceland
B. Luong Cuong 2. Vietnam y
C. Halla Tomasdottir 3, Lithuania
D. Jose Raul Mulino 4,  Panama
Codes :

A B C D

(a) 2 1 3 4 :
() 3 2 1 4 . o
(cy 4 1 2 3 é%‘
d 3 1 2 4

What is R21/Marix-MT™ 9 s

among the following won the best actress award 3.

36.

DS_TF-1’23. Y
r21ARFR-M™ @ | “
(@) WmmamWﬁ@%

Eical
() %ﬁm 1 e g o @Ha;
et Pl
() wREERIe o e g Rt wfer 5
et Zrert

(d) i T R T e e F
T fer

Pt & & et e R et 2024 3 o7

i P ot s R T R S 2
(a) o efferr

(b) TR

() %‘ﬁm ESE
@ m@m =

%wﬁﬁﬁmﬁﬁwﬁﬁ@qw& :

L. ﬂ%mﬁmﬁmwmﬁm@%l i
2. mvﬁmnﬁzozﬁmﬁ%&rwml

A Ry e § F v s A
() 1323 (b) el
© w2 @ Fa1ad2
L L & i B s gt % A R
T S BT S IR AT
@151 11
(7 Ftfer 72 ) GURE
Arnmq?qiﬂﬁar 1. oTEEeE.
B @“%’?ﬂ“ﬂ 2. forram
C. Tl AMTRIfeT 3. forgenar
D. S s gfemr 4. T
ﬂg?:
A B C D
@ 2 1 34
b)) 3 2 1 4
© 4 -1 2 3
@ 3 1 2 4
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38.

.Given below are two statements, one is labelled as|37.
Assertion (A) and the other as Reason (R).

Assertion (A) : Most of the carly nationalists

considered British rule as an act of providence

destined to bring modernisation.

Reason  (R) They complained ‘ agamst

“Un-British rule™ in India.

Select the correct answer from the codes given below :

(@) (A)is true, but (R) is hﬁ}e .

(b) Both (A) and (R) are(tﬁle and (R) is the correct
explanation of (A). (v}

(¢) Both (A) and (R) ar® ‘fue, but (R) is not the
correct explanation of (A).

(d) (A)is false, but (R) is true.

Which one of the following statements is not correct
about William A.J. Archbold ?

(@) He was the Principal of the Muir Central
College, Allahabad.

(b)  He was the Principal of MAO College, Aligarh.

(c) He was the Principal of Government College,
Dacca.

He was the Principal of Lahore Collége,
Lahore. )

(d)

0 39.

Consider the following evénts and arrange them in
chronological order startmf fom t

I. Vellore Mutiny fioﬁ-

2. Death of Nana Fadnayis}

3. Recall of Wellesley

4. Anglo-Nepalese War

Select the correct answer from the codes given below :
(& 3,1,2,4 ‘(b) 2,3,4,1

() 2,3,1,4 @ 41,32 -

atch List-I with List-II and choose the correct|40.

answer using the codes given below the lists :

List-1 List-11
(Revolt) (repder)
A. Paika Revolt 1. Ef¢lachena Kungan
B. Barcilly Revolt 2. Kaflharam
C. Malabar Revolt 3. A fti Muhammad Aiwaz
D. Sylhet Revolt 4. agabandhu Bidyadhar
Mahapatra
Codes :
A B C D
(a 2 1 3 4 \
(b) 3 2 1 4
¢ 4 3 1 2 EgE
@ 3 4 1 2 é%’ﬁ

DS.TF- 1-23

1 2 et R 2, o & 8 AR (A)

?:H'ta?r‘om“T(R)TﬁTW%l »
sifrRe (A) : TR Tt # @ sty #

www@E@@@@@m%m

AT |

HROT (R) : ST FRTehTare Sherct TG A “S-forfemy ap
& g off |

Hr Ru e e # & Het S g ;

@ (AT R TR

(b) (A) R (R) 3T T § AR (R), (A)'ﬁq-@
AT AT R |
@>mw®ﬁwﬁﬁ®wﬁw
. AT RS
@ (A)TeaE, TR (R) TR

fafeem T, srdeies % w=ed & ﬁr{%ﬁaﬁ ) z?f
- T Tk he Wl e § 2 :

(2) o TR Uel hictsl, SATRTETE oh e o |

(b) I TN, HietsT, Aelie H = o

¢) TSI Hictsl, GrhT 3 = o |

(d) 3 TTER i, AR W= o |

frefefag gearet w fem AT T 37 Wy

SHITHHITE e hifsTy :

1. e fER

2. T HEUETE 7Y 51%%
3. SISl i AT AT A
4, T IE

Frel ferg T e H @ HE SR

@ 3,1,2,4
© 2,314

(b). 2,3,4,1
d 41,32

ell-1 1 FEft-11 @ gafera AR afi giwt & 9 fo

Wawwmmqﬁwaﬁq
-1 HE-11
(R5E) (gea)
A TEEfEE 1L e
B. el fag 2. TUWH
C. umER e 3. Tt HigRE T
D. fieree fgie 4, STy feremeR wETITA
%
A. B C D
@ 2 1 3 4
® 3 2 1 4
) 4 3 1 2
@ 3 4 1 2
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sl srevderE F for friw e & el 7
iR st ot frm R '
L aifr e T 3 WO e &

Consider the i
QOIL-MW ‘Rt following statements with reference to
special Officer for Linguistic Minoritics :

L

41.

In the Constitution, there is a provision for the
postof Special Officer for Linguistic Minorities

Which Amendment Acts deal with Local Governance
Institutions in India ?

() 73" and 74" Amendment Acts
(b) 42" and 439 Amendment Acts
(¢) 63 and 64" Amendment Acts
(dy 46" and 87" Amendment Acts

With reference to the ““National Intellectual Property

Rights Policy’ consider the following statements :

I. 11 reiferates  India’s  commitment to  Doha
Development Agenda and the TRIPS agreement.

2. Department of Industrial Policy and Promotion is |

the nodal agency for regulating Intellectual
Property Rights in India.

Which of the above statements is/are correct ?

(a) Bothland2 - (b) Only 1

(d) Neither 1 nor2

45.

44.

for every State, foru for aifrTl 3 e A1 ST BRI TS |
2. 'I\\l\m:“. I\Tﬁclc 50 la\'us added for this by the 2 94 ﬁﬁmﬁ\ ! e GRS fore @
N 9™ Constitution Amendment Act. Wﬂ?@?}go B SirgT T |
\.\:“C‘;M the above statements is/are correct ? Wﬁ@ffﬁ?—ﬂlﬁjw w2
\-\\) 1\“:1 L:md 2 (b) Only 1 @ |1 WZﬁ?\} (b) Fad |
() Unly . (d) Neither 1 nor 2 € HA2 ) (d) A LA 2 '
{4 / ilelklud(;\:“?u"m“ list of the Indian Constitution |47, Wgﬁmaﬁwﬁ@ﬁmﬁﬁ%ﬁ
“ 1. Trade and Commerce % by ;
EEE LR AC G
2. Adulteration of Goods E‘g@ :; ,: f@mﬁ
3. Succession . ) 2
Select the correct answer from the codes given below : ﬂ%ﬁ;:ﬁi?ﬁ@ﬂﬁw 3 %ﬁ?f: 1
(&) 2and3 (b)  Only 1 8 133 ?:1; 1,2 #3
(¢) land3 - (d) 1,2and3 ’
. o 43. It P frem T 9 |
Fathima Beevi died recently. Consider the following ﬁqmﬁmw Qimﬁ?mﬁ Wﬁ . el
statements regarding her : = ﬁ;% s ?ﬁ & el =TT
1. She was the first woman judge of the Supreme . :?.'W 4
Court of India. % %) .
2. She served as the Governor of Kerala from 2 = 1997‘@991WWW% 7 bk
1997 — 2001. g+t O , ‘
3. She was the first Muslim woman to enter into 3, 98 F=Ad T g areft Fee! \’lliiil 2
higher judiciary. e afear o)
Select the correct answer from the codes given below : ﬁﬁﬁﬂ‘l@‘ﬁ@w‘eﬁﬁ :
(a) 1,2and3. (b) Onlyl (@ 1,233 (b) e 1
(¢) 1and?2 (d) 1and3 (©) 132 d 133

-G G TR TR § e e geenst
iR 9

(a) 73at 3 74at weiven SfatEm

(b) 4297 3R 43@,;‘;5?1% arferforem

(c) 63af 3T cAgDERIER At

(d) 86dT 3 sﬁg'f;trshm arfrfem
mﬁm%ﬂmﬁﬁ%mﬁﬁ
frrfrfaa st e fimm Hifs

|, 9% e e eer 3fit fovm wmgha o ufa WRa
o gftrerg 1 e | L

0. oireifies Af oft dav R, wwa § sifew
e AREN % R w0 % fr dew
eI |

e & A o e 3R | e
(@) 13f23m (b) w1 !
(c) a2 (d) AA1TE2

i
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7+ | Given below are two statements,

\&

49,

Which of the following is the correct sequence of
phases of Biotic succession ?

(a) Ecesis -~ Reaction - Stabilisation *
(b)

(¢)

Migration

Migration ~ Reaction - Stabilisation — Ecesis *

Migration - Reaction - Stabilisation

Ecesis

(d) Ecesis ~ Migration - Slubilisal(isn — Reaction
L

e
) | IH 1s labelled as
/' Assertion (A) and the other as Rca§0Q (R).
Assertion (A) : Relative humidifyydecreases with
Increasing air temperature.
Reason (R) : Absolute humidity increases with
Increasing evaporation.
Select the correct answer from the codes given below :
(A) is true, but (R) is false.
Both (A) and (R) are true and (R) is the correct
explanation of (A).
Both (A) and (R) are true, but (R) is not the
correct explanation of (A).
(A) is false, but (R) is true.

(a)
(b)

(c)

(d) o)

N
™M

Which one of the following is corrdg
(a) Sea watel*témperature
(b)
(c)
(d)

matched ?
Halocline —
Air temperature

Biodiversity

Thermocline —
Ecocline ~

Pycnocline — Sea water density

Match List-l with List-Il and choose the correct
answer using the codes given below the lists :

List-I List-1T
Planting Hearth 1. { Hungary
Cryophyte Steppe 2 ({%dolf Engler
World Floral Regions 3 hf‘g,o. Sauer

4. tvArctic Tundra
(Y

S ow

Puszta Grassland

Codes :

—
S,
u&w—.>

........................................................................................

46.

47.

48.

49.

DS.TF.1.5,

ﬁmﬁmﬁ%ﬁmméﬁmwﬁﬁmwwm
a2

(a) AT — TETIH — Sferfsear — feerfiehto -

(b)  warH — Sfciferam — Reerihtor — e

(€) TR — Yard — Sfcfshar - feerfiertor

(d) TR — ST — Feeriertor — Nfafsra

A1 & her fRw e &, S & T Al AR ()
THL T FHAT (R) FET AL |

AfVHerT (A) : HTUfRIeh SATRAT A1 & AT & 3 3
DR Al

I (R) : BT 8 ik o H1en F3T0e7 ST oy
i

#ftr fa e e 3 & Het I g

(@ (A) R, fhg (R) T2 |

(b) (A) 3T R) 3T & T (R), (A) F
ST LT 2 |

(A) 3 (R) FFT & &, fobmg (R), (A) T
ST Tl AT |

(A) T &, Foheq (R) W1 2 |

(©)
C)
T o & e et gafer 3 0
() B AT S A

(b) TR R e

(c) SHFAET  — S fafawar
(d) TSHEIH —  HEE S g

1 11 R i s e 5 9 B

T % T FANT T FeF I IMAC
geit-1 | -1

A. G 37Tl 1. &
B. HREHEE Rt 2. TSI W
C. fera < qudfiay & 3. @37 §rR
D, T I e 4. RIS
%he

A BC D
(a) 1 2) 3 4
()M R
() IRt |
(F R s 1
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: Which one of the following groups have only input
devices ?
(a) Mouse, Keyboard, Scanner ol
Lo e
(b) Mouse, Keyboard, Monitor X

(c) Mouse, Keyboard, Printer

(d) Mouse, Keyboard, Projector

The content of computer memory which is

non-volatile, even when the power goes offis
(@ ROM * (b) - REM
(¢) RAM (d) None of the above

52. ) Which of the following is a correct relationship
|/ between Fahrenheit (°F) and Celsius (°C) degrees ?

(@) °F=°C-273:15 (b) F—— °C+32

(@ °C=1°F+R (@ °C="F-271s

Which of the following statements is nof

true ?

(a) Functional segment of DNA is called genes.

(b) Chromosomes  contain information  for

inheritance.

(¢) Chromosomes are composed of DNA and
Protein.

(d) Nucleus of a cell does not play a role in cellular

reproduction. *

Given below are two statements, one is labelled as

Assertion (A) and the other as Reason (R).
Assertion (A) : CO,,\SO, and NO, \gases get
dissolved in rain water and produce acid rain. 2

Reason (R) : Atmospheric air is polluted due to high

concentration of gases like carbon dioxide, sulphur

dioxide and oxides of nitrogen. -

Select the correct answer from the codes given below :

(a) (A) is true, but (R) is false.

(b) Both (A) and (R) are true, but (R) is not the
correct explanation of (A).

(c) Both (A) and (R) are true and (R) is the correct
explanation of (A).

(d) (A)is false, but (R) is true.

A;

L
5

51.

53.

54.

DS.TF-1-23
e gl 7 & il S AT ST (S
e € 2
(o) A, A R

(b)
(d)

e FAT T TE PILE W%ﬁﬁﬂﬁwﬁm
T

@ ROM iy (® REM
(© RAM ;ii (d) ITF AR

e 8 A eTERE (°F) T A (°C)
R e el i e 27 |

(a) OF=0C—273'15 (b) °F:.95_OC+32

() °C= Z°F+32 (d) °c=°F—273-15‘

ﬁwrf%"fﬁa‘crﬁﬁaﬁ:rqu%"rﬂz‘i%?

(@) gﬁmqﬁms‘cﬂﬁﬁsﬁ#mﬁ%l

(b) S et 3 e g R T E |

(© aﬁﬂﬁ@ﬁ?ﬁ@qwﬁzﬁﬁaﬁ‘aﬁ%l

@ Wﬁﬁmmmﬁﬁﬁﬁﬂﬁwwﬁ
%wq%"rﬁ%l

ﬁawﬁqﬁ ﬁﬁﬁ@aﬁaﬁm%@)am
?@:ﬁW(R)WW%I ,.
afirRed (A) @ CO,, sozaﬁtNozﬁ%aafaaﬁw
et € ot atvelig aut ST R £ |

FIOT (R) : I STEATFATEE, TH SEHFTES AN

AT % e et A A I Al 6 w

argreetta a1y Ve B & |

o R e e # F W ST

@ QT FgR e

(b) (A) 3R RYAM & T g (R), (A) T
mﬂﬁw%l :

©) (A) 3R (R}Eaﬁr e & N (R), (A) HF G
SJI@TEWET‘ 3|

@) (A)Tem g R) TR
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Government of India in chronological order .:m(I
choose the correet answer from the codes given
below @

I Integrated Rural Development Programme
2. Swarnjayanti Gram Swarozgar Yojana
3. National Rural Employment Guarantee Act
4. Pradhan Mantri .Ianéb}mn Yojana /@
Codes : ~
(@ 43.1.2 by 2,3,4,1
-77‘\(\') 1,2,3,4 (d) 3,4,1,2
va./, With reference to Econéiic Growth, which of the
following statements is/aregorrect ?
1. Indian Economy is an Underdeveloped Economy.
2. Indian Economy is a Mixed Economy.
3. L.M. Keynes is the Father of Economics.
Select the correct answer from the codes given below :
(a) Only 2 and 3 are correct.
(b) Only 1 is correct.
(¢) Only I and 2 are correct, BiE
(d) Only 3 is correct. l‘il’%
57.\ Given below are two statements, one is labelled as
Assertion (A) and the other as Reason (R).
Assertion (A)
determined by demand \@hd supply of foreign
currency is called flexible &XEhange rate. 4
Reason (R) : Demand 4nd supply of the foreign
currency is being determin€iby the Central Bank, -
- Select the correct answer frb:ﬁl the codes given below :
(@)  (A)is true, but (R) istfalse. _
(b) Both (A) and (R) afe™true, but (R) is not the
correct explanation of (A). ; .
(¢) Both (A) and (R) are true and (R) is the correct
explanation of (A). |
(d) (A)is false, but (R) is true.
e With reference to India, consi
events :
1.

der the following

2. Formation of Regional Rural Banks
3. Adoption of villages by Bank Branches

Which of the above events can be considered as steps
taken to achieve “financidlfihclusion in India”?

(a) Only3 ’LB Onlyland2 ~
(¢) Only2and3 :@1 1,2and 3

ith reference to “Naljorjal Food Security Act”, |59,

which of the following statements are correct 7

LIt will cover up 1o 75% rural and 50% urban
population,

2. It has special focus on nutritio
women and children,

3. It was enforced on July 5, 2010,
Codes ;

(@) 1and 2 are correct,
(¢©) 2 and 3 are correct,

nal gupport to

(b) 1,2 and 3 are correct.
(d) 1and 3 are correct. »

*14*

Arrange the following schemes launched by the| 55,

56.

* The value of national currency 7.

Nationalisation of Banks o h et o D8

DS.TF-‘]QS
%ﬁm@aﬁﬁqﬁtﬁﬁqﬁqﬁﬁﬁ b

Write in descenc
‘basis of their po

I H : 1.  Bihar
Pt R T
2. O] S I RIS SIS \ following code:
3. U e AR M ety (a)) g,:?,é
4. ST S-SR Ao E\iatch "Listl
| answer using tl
@ 4,3,1,2 ®) 2,3,4,1 Sl
(© 1,2,3,4 (d 3,4,1,2 \ A. Humar
il dof Tt 8, Pl sty | D
TR : ‘ | Outlook
2. I S O B ey B C R
3. é.@.mﬁaméam%ﬂ | ‘ i
ﬁ%{m-‘f{ﬁ E%%Wﬂﬁ'q \ D. ‘Emissior
(a) FaaI2A3THE| : ‘ Report
(b) FaiwErd ‘ Codes :
(¢) a1 2EdE) Eim : A
(@) FE@3ad| GE! () 2
A3 < e o ¥, R & oy arfrem (4 o (k) 1
THLHT HTL (R) Fal TR | | L. ) %3)) 3
IR (A) : TR T3 7 % Ty o Pt oy oy P
whaﬁraﬂqﬁgmaa%ﬁm%,sﬁm%ﬁwétm%a . i‘s‘;Zi‘uﬁﬁl?
®) :% E;T#Iﬁn C’:ﬁ‘{ Nﬁﬁﬁa%m Assertion
Iz | i Developme
ﬁﬁqwgﬁ%aﬁwgﬁq Report. ®
(@ (A)®EE, g (R) e R e
®) (&) T qg%R) aﬁ% 0 E, g ®R), (o) o Ee;ect(%c_c
" AT 7T T | y. a i
O DM@ IR Ek @, @R § O Do
. TR | ' (©) Bott
(@ (A)W%,%(R)‘Té%l CoIT!
T e, Referfi semait o frem iy (ng ;A&
ke ! ¥
s g
3.1 W?ﬂ@ﬁm‘ﬁ@rﬁ‘ﬁ?{éﬂ e I::f;t\%er\'
Wwﬁﬁﬁ.%&fﬁ% <R H Tt gumaye? List-I
ST 3 AT 33Tl T et o o 0 . (Econor
(@ Faw3’ (b) Faerlav2 A My
©) Faa23R3 d) 1,233 - e
T AT e S 3wt e 3 Qi
FH-T HUT TR E 9 C. K
L T8 75% Afior 30 5004 wred s o Reeta
B | D. A
2. sad ufeamel ofit sreat 3 dior G W REw Code
& e g . @
;;?fxgsﬁﬁré;zoma%a@%mwml , ((b%
ot y C
@ 13R2EAE ) 1,283 (d)

13 add) 000 e
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Uttar Pradesh 4.  West Bengal
Chooqc the correct answer with the help of the
following codes :
fa) ] a2 L) 1,3,4,2
() 3,4,1,2 d. 153,24
Match List-l with List-1l and choose the correct
answer using the codes given below the lists |

List-1
A. Human 18

Development Report
B. World Economic 2,

List-11
International
Monetary Fund
United Nations

Write in descending order the following States on the
ba51s of their population as per Census, 2011 :
Bihar 2. Andhra Pradesh
| 4

Qutlook Environment
Programme
C. World Investment 3. United Nations
Report Development
Programme
D. Emissions Gap 4, United Nations
Report Conference on Trade
and Development 7
Codes :
A B C D
(a) 2 3 4 1
(b)i=1 2 3 4
Bies it alapi S
@ 2 e o

'’62.\ Given below are two statements, one is labelled as
\ Assertion (A) and the other as Reason (R).
Assertion (A) The concept of Sustainable
Development was popularised by the Brundtland
Report.
Reason (R) : The Brundt]and Report is also known
as * The Limits to Growth”
Select the correct answer from the codes given below :
(a) (A)is true, but (R) is false.
(b) Both (A) and (R) are true and (R) is the correct
explanation of (A). .
(c) Both (A) and (R) are true, but (R) is not the
correct explanation of (A).
(d) (A)is false, but (R) is true.

The following lists 1 and II show the names of
Economists/Authors and their books respectively.
Match List-I with List-II and choose the correct
answer using the codes given below the lists :

List-I List-II
(Economist/Author) (Book)
A. Myrdal 1. Economic Theory and

Under-developed Regions
Hirschman 2. The Strategy of Economic

OB,

Development
C. Kaldor 3, Strategic Factors in
Economic Development
D. Adam Smith 4. The Wealth of Nations
Codes :
A B C y
@2 | 3 4
(s)) & % | 4
o o |4 @
(A2 3 1 AVSREN S S

DS.TF-1-23

2011@(51:{!1\11‘% I7ehY STEEAT % AT W
% | fafau :
1. ﬁmt 2. SYNRT
3 IR 4, ufymET
ﬁmﬁmgzﬁrmﬁmqﬁwaﬁﬂ
@ 3,142 (b) 1,342
© 3,412 @ 13,24
@-Iﬁﬁllﬁgﬁ%ﬁmaﬁwﬁﬁ%ﬁﬁq
g T
qaﬁ-_l -II
A o e fae 1. ST 3T
B, Fy ol g 2. s g WA A
o frgPamiEEn 3. S T e
D, Scasi o i 4 ST 3T R T H
. R
SN el
@) 29 '43’1 }1
Y ) : EfE
Ec; 3 1 4 2 l‘il%;i
@i 2

ey 21 e T TR, ﬁqﬁa@@rmww
aﬁﬁm(k)amw% ,
ST (A) mmmeﬁruﬂﬂnﬁaaﬁ@f@i
ST ARSI ST TR | | .
T (R) : azﬁ@ﬁﬂéaﬁ‘ﬁmuﬁvﬁmﬂ*%mﬁ
off ST ST € |

79 Frg o B e S

@ (A, %H(R)W%l

(b) (A)HW(R)@M%‘T%aﬁMR) (A) 1 T
ST AT E )

© (A)am(Rﬁ?’ﬁma"r% 51 (R, (A)aﬁrmﬂ
E’Il@f?é’??i{'r%l ‘

@) (A)TEAR, g R) TEE

d ‘ﬁm%f%aqﬁmlaﬁnmﬁwﬁs@/é@aﬁ%mw

S TR T A asrkﬁ%la%ﬁlaﬁwuﬁ
@%ﬁﬁﬁtﬁtqﬁﬁ%ﬁ%mmmwmw

_E‘a"raﬂtaﬁm
aeft-I Fe-10
(geﬁv:@?/é@%) (EED)
A, foga 1. TP 2 U Setsaas Ustd
B ffi 2. GRS A HAIHE STATHS
C. WS 3%2%%@%@?3:@?%%3@@2
D, TeH e %é—am?{w
e g
A B .t D
(a)ki2 s
() iag P
(E) Al el g
_____ (@) L R R
A
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/ According to the Lokpal and Lokayuktas Act, 2013

B N

' implementation :
A, 4ond Amendment 1. 1985
B. spnd Amendment 2. 2011
C. et Amendment 3. 1976
D.  ggth Amendment 4. 2002
Select the correct answer from the codes given below :
A B C D

(a) 3 1 4 2 i, i’,)

®) 1 2 3 410

(© 2 -, 18 geiiy N

@, 4 3. 3. ;M |
-~ 65.

65. }Match List1 with List-IT h:ﬁ%l choose the correct
answer using the codes giveﬂ below the lists : i

. y Bl
List-I List-I1 é%j

A. Cooperative Federalism 1. K.C. Wheare
B. Bargaining Federalism 2. Ivor Jennings
C. Quasi Federalism 3. Morris-Jones
D. Federalism with 4. Granville Austin
Centralising Tendency '
Codes : 7
A B C » ] ()
@ 3 2 4 1u
®) 4 3 1 2483
© 2 4 3 g1y
)
@ 2 1 4 3 e

/ Which one of the followinazgs not a level in the | 66.

hree-tier Panchayati Raj re%:o%nnended by Balwant
Rai Mehta Committee ?

(a) Nyaya Panchayat. *
(b)  Zilla Panchayat ’
(c) Panchayat Samiti A

(d) Gram Panchayat «~

the Lokpal would be appointed by the President after

obtaining the recommendations of a  Selection

Committee, with the Prime 'Minister as chairperson

and consisting, among othersf;;”c;’f the following :

1. Chief Justice of India o'{‘;a‘]Supreme Court Judge
nominated by him :

2. Chairman of the Rajya S4bha

3. Speaker of the Lok SabRa

4. Leader of Opposition in the Lok Sabha

Select the correct answer from the codeg given below :

(@ 1,3and4, ®) 1,2,3and4

(¢ 1,2and3

Match  the Amendments  with their year of64.

67.

. e T S FE B A e
N 42_af-qgﬁg;|:{ 1. 1985 %:
p. sEtE R 2. 201
C. se@EET - 3. 1976
D, oeatEEET 4 200
ﬁmm@ﬁﬁuﬁw%ﬁm

TR LG D
(a) 3 1 : 4 2
(b) U 2 3 4
(©), 2 1] 3 4
@74 82 o]
W.Iaﬁ@-ﬂﬁ@%ﬁwsﬁTW%
e ST S e My
L i
A. UEHRI GEarg cin L 33.1#%;4-{
B. HiesS( @aE 2. Bﬂgrﬂgﬁm
C. 37ef deraTg 3. Wi

D. SR S 4 Ife iy
EISIRCECI

e @

A B G
(@) 3 52i A
(b) . 44 3 iy vig
O 2 e 3t g
(@20 10 A g
wmﬁwvﬁ%ma@mﬁﬁﬁwﬂawm
& frerferfea 3 & S v wr g
() =EYEEE
(b) forem v
(c) UNINaaffy
d) 7 Y=RE
mewﬁqﬁmzow%w,
SR i frft Tgl g w e A @
Fewritat s et 3 e ot s, ey arear T

W B R e @ ¥ o, Rk
M By - %
L 9 % wqer ey o o a0 T

ST AT 1 s AT
2. TSHOWr gy a4
3. i g otene m’!éii
4. Sk ET I feyger @ AT
R
@ 1,334 (b) 1’2’;374
© 1,233 (@) 23
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Change (IPCC) emphasize regarding reductions in
greenhouse gas (GHG) emission ?

1. Gradual and limited reductions ate cnough,

2. Deep, rapid and sustained reductions are essential.
Seleet the correct answer from the codes given below
(@) Only2 () Only 1

A (©) Both land2 » () Neither 1 nor2
/
9N What does the term “Cereal Yield™ refer to ?
1o The amount of cereal crops produced per unit area | 49,
\_/  ofharvested land
2. The wtal production of cereal crops in a given
country o~

Select theCorrect anwer from the codes given below
@ Only2 (b) Only 1
) Bothland2 ' (d) Neither 1 nor2

70, Which of the following statements is true regarding

the trend of unemployment rate in India between | 70,

July-September, 2019 and July-September, 2022 ?
R/ 1. Itremained the same.

2. Itdeclined.

Select the correct answer from the codes given below :
(a) Both 1 and 2 are true.
(b) 11strue and 2 is false. O
(¢) 2istrucand 1 is false.
(d) Both1and?2 arefalse. #

71. Who prepares/publishes the Global Multidimensional
Poverty Index (MPI) report ?

I. World Bank and International Monetary Fund |71,

(IMF)

2. Oxford Poverty and World Health Organisation
(WHO)

., Oxford Poverty
Initiative (OPHI)

, United  Nations
(UNDP)

Select the

and Human Development

Development ~ Programme

correct answer from the codes given

below : EiE
(a) 3and4 (b) 1and4 ,ﬁz&;
(c) 2and4 (d) Only4 7.

72, Which measures are essential to achicve Goal 4 of

the Sustainable Development Targets, 2030 7

I, Making education free and compulsory

2. Improving basic school infrastructure and
embracing digital transformation

3. Expansion of agricultural programmes

4. Increasing investment in technology

Select the correct answer from the codes given below

(@) 1,2and3 - (b) Only1
(c) land2 (dy 1,2,3and4

What does the Intergovernmental Pancl on Climate | 68,

DS.TF-1-23
eran M Ehumst) sk § wd F gy
dcmw{ 'mcﬁh ¢ afaren e (s At e ) e
QU AT 20
i oit e R e § |
5l ey St P R HTFTIF © |
A Ry g uﬂvﬁmgﬁv
(1) FEA2 (b) e |
© |:~,ﬁ(2?)=%n ) Aar1TE2

T S TR A R

L m@g%gﬁﬁééﬁﬁwﬁam
STRIEIRIE

o e Ry ST R T et I

:ﬁéﬁqn‘:{@tﬁﬁﬁwi\,ﬁq
(a) 2 (b)
© lefedd (@ AW

e R, 2019 3 e, 2022 & st
mﬁéﬂwﬁaaﬁmﬁ%wﬁﬁn&@aﬁﬁ

A FA A R ?

1. TR

2, ?Tﬁ'qz"lgug

A% R T e AR SR I

(@) | ¥ 2 A ¥ |

b) 1R TR -
NORPAL ?W%’I é%i

@ 132 3FiEae |
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ﬂ%ﬁqnqazﬁﬁaﬁw%rﬁq

(a) 33ﬁ1‘4 (b)) 134
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/{73 ) onsider the (olowing

/carly trade

o

4.

T s L TNNYOY Wi —n

statements with reference (0

I There are references of numerous river-ports in
ancient Indin, "

There were large entrepots of goods and traffic.
Which of the above statements is/are correct ?

(1) Only2 (b) Only 1

(¢} Both | and?2 (d) Necither 1 nor 2

Arrange the following Sen rulers of Bengal in
ascending chronological order : 0

1. Ballal Sen ;{.;;
2. Lakshman Sen {*’:; E%%
3. Hemant Sen (i?i
4. Vijaya Sen ™

Select the correct answer from the codes given below :
(@ 3,4,1,2 b 1,2,3,4
(c) 4,3,2,1 @ 2,1,43

Consider the following statements with reference to
Bairam Khan :

1. Akbar gave the title of Khan-i-Khana to Bairam | :
Khan.
X

This title was not glvgm at the time of

[

appointment of Bairam than as Vazir of s,l‘ s

Empire. f‘ fl 3 i
Which of the above statements ls/,a{e correct ?
(a) Only2 (b) Gl 1

(c) Both1land?2 (d) Neither 1 nor 2

onsider the following Peshwas and arrange them in
ascending chronological order :
I. Raghunath Rao (Raghoba)
2. Balaji Baji Rao
3. Narayan Rao
4. Balaji Vishwanath W0
Select the correet answer frorﬁ? the cod

s given
below :

(4]
(b) 12

(a)y 1,3,2,4 '!3,4
© 4,23, (d) 3;,'4}1,2
“18

73.

74.

75.

76.

@ FEa2

. wmﬁw%ﬁm% y
; wwﬁw%ﬁ%?} }

Wﬁgaﬁqwéwm‘r%/%?
@ ¥ ®)
@ 1@ @ Ty,

m%ﬁw%ﬁaaéwmmaﬁaﬁw

T
2. T Big
3w é‘%ﬁ’
4 feEET |
:ﬁ%ﬁqnq%ﬁﬁﬂiﬁw?rﬁq
() 23idi 120 b) 1,234
© 4321' @ 21,43

: yé@@%ﬁﬁﬁﬁmﬁﬁgﬁmq{w%
1 Wﬁé’ﬂ?@aﬁ@?{qi@mﬁmm
2., agwﬁrmm%aaﬁx%maamm

Foge e A
S 3 A T 3
| (b) ¥

1S2A & (g) ﬁrma‘}z

©

 FICTHATTET sFafer IR

L. T T (e

0

2. ST aS e

3. AREOITE

4. St foam

e few g e 4wl s g

@) 1,3,2,4 (b) 1,2,3,4
© 4,2,3,1 3,412
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Which one of the following pairs (Aluminium
Plant - State) is nof correctly matched ?

(a) Hirakud Odisha 7

(b) Muri Chhattisgarh

(€)  Alupuram (Alwaye) ~  Kerala v

(d) Belagavi - Karnataka

Which of the following pairs (National Park -
State/Union Territory) is not correctly matched ?

(@)  Simlipal —  Odisha

(b) Bandipur - Kamataka °

() Rajaji — Uttarakhand

(d) PinValley - Jammu and Kashmir

Given below are two statements, one is labelled as
Assertion (A) and the other as Reason (R).

Assertion (A) : The Himalayas are still rising.

Reason (R) : The Indian tectonic plate is colliding
with the Eurasian plate.

DS.TF-1-23

. GeRfe g Gt § R
A R T 2

() dFs - s
(b) T = », P
() S EEEE) -

(d) St 11: - e

@ frA¥eh - ST FR

< 8 ot R e 2, ot & o ot SR (A) T
ag}aﬁm(R)aﬁTw%l

RTRA (A) : . e anft s ST A WIR |

HWT (R) : W%@ﬁﬁ@zﬁwlﬁ?ﬁm@

79.

Select the correct answer from the codes given below : i‘%ﬁqwaﬁ%“g Wﬂﬁ"{ E
(@) (A) is true, but (R) is false. . o (A) w&% ()T 3 ' mE
(b) Both (A) and (R) are true and (R) is the correct Hortin et (K) ?ﬂ?ﬁ i & 3 @), (A) ‘;th i
explanation of (A). » b b
(c) Both (A) and (R) are true, but (R) is not the (C)‘_ ) a ® s E’E‘T % ﬁﬁf (R), @ P
correct explanation of (A). v HB?WT % |
(d) (A)is false, but (R) is true. @ (&) N m (R) H‘aﬁ 3
Match List-I with List-Il and choose the correct|gg it sﬁrgzﬁ I ﬁaﬁﬁ«'ﬁﬁ%@ aﬁwﬁ?ﬁ%rﬁ%ﬁm
answer using the codes given below the lists : Wwwmwgﬁwqﬁq
List-1 List-IL ElE Ej’f—l _ H;iﬁ-II
(Coal Resources) (States) (T 9.737{‘; ‘ mé%“
A. Hutar 1. Madhya Pradesh A, T 6;;;3 1. #4
B. IbRiver 2. Chhattisgarh B. TITEl :"‘3! | 2. TETE
C. Tatapani—Ramkola 3. Odisha C. mm—,ﬁ_m 3 31'1'%5”
D. Umaria 4, Jharkhand D safEr d e
Codes : -
A ? § D i A B C D
(@ 4 2 3 1 A @ 4 5 3 A
b 4 3 2 1 ® 4.7 20 A
(c) 3 2 4 1 © 3 2 4 1
@ ¥ 1 3 A oot @2 A T
"""""""""""""""""""""""""""""""""""""" x40+
LY ‘-
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81.  Consider the following days and arrange them in [ 81.
chronological order
1 World Health Day
2. National Maritime Day O
3. World Athletics Day 0O
4. World Red Cross Day (\i\'
Scleet the correct answer from thg codes given below :
@ 32, 1,4 ™
™ 2,3.4,1 (;“:;
(©) 4,2,3,1
d) 21,34
82.\ Match List-I with List-II and choose the correct
answer using the codes given below the lists 82.
List-I List-11
(Award) (Recipient)
A.  Aryabhatta 1. Amitabh Bachchan
Award, 2024 _
B. World Literary 2. (Mamta G. Sagar
Prize, 2024 0O
C. Lata Deenanath 3. gbfr Subba Rao
Mangeshkar {Ravuluri
Award, 2024 ™
D.  Goldman 4. "Mok Shukla
Environmental !
Prize, 2024
Codes : , §
A B C D EE
@ 2 3 4 e
(b) 4 2 g 3
© 3 2 @ 4
d) 3 2 4 1 83.
0
Match List-I with List-II an( choose the correct
answer using the codes given befow the lists :
List-I g;;t-ﬂ
(Vitamin) f(Dls ease)
A. Vitamin A 1. - BErlberl
B. Vitamin B 2. Blindness
C. Vitamin C 3. Rickets
D. Vitamin D 4. Scurvy
Codes :
A B C D
(@ 1 3 2 4
by 1 2 3 4
(c) 4 3 2 1
cren 2 el T4 8 M v e ) o ) o]
* 20 *
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4. fawwmiEd
2 fw Ty e 7 & wt SR :
(@ 3,2,1,4
(b) 2,3,4,1
() 4,2,31 i
@ 21,34 5@@
aa?la%gﬁ?llﬁw&%ﬁfrﬁqaﬁzm%%
T e Bl ST X T I T ﬁq
il -1
(JEFR) (TR
A. 3TTVE TERR, 2024 L. st
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gz
ACBR €Dy
(@ 2 3 1 4
()RR R SER N
(© _3 2 1 4
@ 3 2 4 1
H?ﬁlﬁﬁﬂﬁlﬁ%ﬁaﬁﬁrqaﬁ;m%ﬁm
T e T TN 1 F S
T 11
(feerf) @)
A. fifima 1. e
B. faifim B 2. YT
C. faafmc 3. fekew
D. faffmD 4. wdf
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A B. C D
@ 1 3 2 4
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.1 correct orde
in r from West to East by thejr location :
1. Karakoram 5 ‘ '

3. Hindu Kush 4

Pontic

Zagros
Select the correct answer from the codesg given bel

' elow :
@ 4123 ® 4231  gug

© 2431 d) 2 b 8
d 2,3,41 @

is not correctly matched ?

(a) Mekong river — South-West
~ (b) Angara river — North @
(c) Amur river — North-East
(d) SyrDarya — North-West
@
%) Which  one of the following  pairs|.
(Country — Oil field) is not correctly matched ? 38,
(@) Iraq — Zubair
(b) Saudi Arabia — Dhahran
() Iran — HaftKel D |
(d) Kuwait — Kashagan
3

Mediterranean climate : .

1. Itreceives rainfall in winter season.

2. Due to winter solstice, air pressure belts shift to

the South.
; Which of the above statements is/are correct ?
(b) Onlyl

(a Bothl and2 °
(d) Neither 1 nor 2

(c) Only2

onsider the follo
climate of Western-Europe :

. Western Europe receives 1
located in the

infall in all months.
2 Western Europe is “belt of
Westerlies.

Which of the above statements is/are correct ?

(a Only2 -

(b) Onlyl

(c) Both1and?2

(d) Neither 1 n0r2 ______oceemmeeesr 777 = o

Consider the followi
OWing mountains and arrange them | 84.

Which one of the following pairs (River - Direction) | 85

@ Ty

Consider the following statements with reference to
87.

wing statements with respect to the "

' DS.TF-1;23;:
qefdt TT o IS qem 3% Sk T 3
fte & g o ST w56 et v
|, A 2. difiew
I
3 g e AR T
®) 4,231

@ 4123
© 2431 s d) 2,341
vy

s e o o e T o
o AT T € 7
(a) feEmAd -
(b) m:ﬁ’[ £

© T -
@ R - S

Sy gt (g e ) & A e
@ fw

by TR (s O

i &y i

ER

efqor.afiem
W

¢ faweh Tt & |
e 1 e wd R
(a) laﬂrzaﬁ;% (b) FaAl
(c) @el2 v (@ FaAr1Tg2

)
vt i 1 etalg % w3 e o ®
frm I : |
| et 3 el w2 |
2. qﬁaﬁ@wwﬁﬁsﬁﬁﬁ%wﬁﬁ%%l
m@ﬁﬁﬁﬁ?—mﬁwaﬁr%ﬁ?
(a) A2
(b) a1
(© 1efzad
@ TFaA1ITH2
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Yareft Y STeTaTy] ok
‘ 89 Eﬂ'ﬂﬂm% ‘ TFS[ u "a}ﬁ%gl o 4
Consider the following statements with reference to | 89. MWWW R ¢
getic agro-climatic region : :
Upper Gangetic agro-climatic regi — o Wﬁﬁﬁ?qﬁwwmﬁ §|
1. This region cncompasscs 5 3 130% T
Uttar Pradesh 2. W 933[1?[ i 3 . e oy
adesh, _ e 140% % | , f
2. This region has more than 130% irrigation ‘ Y SR
ntensity and 140% cropping intensity. : ¥ b
. L NS ) 2 o () wE
Which of the above statements @/zjrc correct ? (a ’
Ny 1 32 3 @ T3,
(1)  Only2 (b) Gly 1 (©) ‘ el
£ : :
(c) Bothland2 - (d) Nejther 1 nor 2 . “
(3 Rl .
(™ 00. , el 1 aefi-IL & T Y WW%NQQ
Match List-I with List-Il and choose the correct X memmgﬁwﬁﬁq :
answer using the codes given below the lists : C\‘H‘Eﬁ L : R
List-I List-II A @ (5 7 ¥ S
(Pass) - (Height from Sea Level) SR A e 1. 5360 Hiex
A. Debsa 1. 5360 metres R B g RS0 ey
B. Rohtang 2. 4850 metres B
IENl 3. 3978
C. Bara-lacha 3. 3978 metres C. T e .
D. Banihal 4. 2832 mefres - : (D Te : 4. 28327
Codes : K*g : & W :
{ﬂ ‘ NN afiol
A% BIECE DM A B CTND =2
p M
@@ 3 1 4 2 £ (@ 3 1 4 2
® 1 4 2 304 i) by LA ol
S (b)
© 1 3 2 4 (© - Imwdnifgoiiing
l d 3 1 2 4 (d 3 1 2 4
} Given below are two statements, one is labelled as .
Assertion (A) and the other as Reason ®R). 91. IR T few %, ISCER:] T I AfeheT (AT
Assertion (A) : Jute is an indigenous plant of India. agﬁﬁsmm (R) FEITTZ |
‘ = =)
i Reason (R) : Jute is a Kharif crop sown from AR (4) :?WWWW%I .
\ February to June and harvested fr:é;?n July to October. SRT (R) : 5 TF H Bae 2, N weedt ﬁ S i
‘ Select the correct answer from thé Eédes given below : j: W%Wﬁ; 3 & 6 T T e |
i (@) (A)is true, but (R) is false£* —. freme o I ‘
(b) Both (A) and (R) t rﬁﬁ t (R) is not th ) (A)W%’%(R)W%l
(o) an are tru S PU 1S no € 3 ¢ &
correct explanation of (A) F ®) (@) 3R R) 3 g, ﬁFﬂ' R), (A) 1 &
= ' | ST T FAT R |
(©) Both (A) and (R) are true and (R) is the correct © (A) 3k (R) 37 T ¥ s (), (A) F 7@
explanation of (A). o AR HAT R |
@ (A) s false, but (R) is true. : (d) (A) T e, e (R) vt 2
"""""""""""""""""""""""""""""""""""""" L L
/ g ‘\ nl ,f\ pi _
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DS.TF-1-23.,
’,: \Which one of the following pairs is por con‘ccj.lgd 92, qmm i@ i foiva 32 F day ¥ fefaRad E“ﬁ
} matched  regarding  peculiaritieg of¢ Ramganga 3} § AT Tl ljﬁi%ia Te?
oot 7 =
project ! (u) W &}a- 6 W%ﬁé’*ﬂ
(3) Irrigated arca = 6 Iac hectares (b) Rofd - T (SHIES)
tio
(b) Location = Garhwal s : ~ 8258 et
el (Uttarakhand) (c) M -
Dam’s length IqEed - ATTTTE
©) = 825-8 metres (d) e d e
() Hydropower generation  _ 198 MW et
capacity
o¥ R &l g & fmfafed
- sider the followi 93, fava & Wiﬁzﬁ 57 il : i A
b ide OHOWINg statements with reference to wﬁmﬁ.ﬂ;ﬁﬁq;
vated arca 9f some countries of e world : () afi Sar st el 3 T ol i
In compari 1. USA’FﬁH : ' '
1. ncompanson to USA, China and Japan, India AL BT s | {
has highest i - 2k : ‘
as. ig es ge.ogra'phlcal area under cultivation. 3 mm%mgéﬂ ﬁﬁ%‘aﬁ?résw T
7. India 3 location in tropical monsoon region o ot farferefera eI B g |
helps diversified Cropping all through the year. : :
: ' ?
Which of the above statements is/are correct ? Wﬁﬁﬁ.wamaﬁ%/% ;

() Bothland2 o (d) Neither I nor2 ; : » : -
© 1siedd @ ?a’rléraz

§4. atch List-I with List-IT and choose the correct

answer using the codes given below the lists : - j
List-I List-IL 94, @-Iﬁaﬁﬁ%uﬁmg Hiftre 3 gt & 9 fag
- 18- ) LoyEA
: 7 o T ST AR HE SR MU :
(Place) (Confluencing Rivers) 'y,
A. Devprayag 1. Alaknanda and Pindar Ricip! ?ﬁ | @‘I.I
' ' ) O @Rt @ Em)
B. Rudraprayag 2. Alaknanda and 3
g A FEET 1. 3Taee SR fiet
Bhagirathi ‘
C. Karna;irayag 3. Bhagirathi and B. &WM 2. HAAHGT 3’ﬁ'{ rfiCedt .
 Bhilangna C. sl 3. wrhieelt 3 friT
D. Tehri 4.  Alaknanda and D. feh 4 Y {
Mandakini
Codes : % i
A B C D %’é}% A :1“;‘} C D
! Ve b
@@ 4 1 3° @ 2 & 1 3
8]
® 4 1 3 2 (b) 4 Ry 3.0 o)
© 4 1 2 3 (¢ 4 ;}g 2:.3 ,5%@
------------------------------------------------------------ * 23 * AU i et b P
3 ) y
| & . P ERS————— N
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97.

With reference 10 “PraValla™ sofiware developed by | 95.

INRO. which of the following <tatements is/are
coreet ?
Lo 1is a pathbreaking feat by Vikram Sarabhai

Spaee Centre,
_ L) ole
S0 Initial netodynamic design f space vehieles
requites  evaluation  of {dge  number of
e ]

LI

configurations, .
N

Seleet the correet answer from the ‘:‘o?cs given below
i ‘

() Bothland2 » (b) Onlyl

() Only2 (d) Neither 1 nor 2

Given below are two statements, onc is labelled as
Assertion (A) and the other as Reason (R).

Assertion (A) : In April 2024, India delivered the
BrahMos Supersonic Cruise Missile to Philippines.

The Missile iias a range of
L

0o

Reason (R)

490 kilometres.

Select the correct answer from the €6§ies given below :

(2) (A)is true, but (R) is false. ::;;

(b) Both (A) and (R) are true a%:Eté'(R) 1s tfle correct
explanation of (A).

(c) Both (A) and (R) are true, but (R) is not the
correct explanation of (A).

(d) (A)is false, but (R) is true. E%,?

[E1x

With reference to the Anti-Maoist operation that took

place in April 2024, which ﬁff the following | 97-

statements is/are correct ? LL_')
Y |
S

I. It took place in Gadghijoli district of
&

Maharashtra,
48]
2, The operation was laundhidd b and
District Reserve Guards,

Scleet the correct answer from the codes given below :
(b) Only |
(d) Neither | nor 2

(Y

(a) Both 1 and 2

(¢c) Only2

96.

@) (AT, g R) TR

@) 1323

DS'TF‘TQs
«praVaHa” @RI § mf{

Yo T T/ F T /R 2

friferfie 3 &
ori et T STARE R A @Ervﬁ%
2
maaxaﬁf%mmwﬁ%%me%
2l

ﬁﬁqm@ﬁﬁgﬁmﬂﬁq:

(a) 1323 (b) I

© F2 ) ad 17

|3

<A & o g e €, o A T T I (4)

@ﬁW(R)WW%I

arfremer (A) : 3T 2024 H A 7 el i g

e st foreTSet S 6 |

THTOT (R) : Toramset 3t ATk &1t 490 fopaiier 3

frar fow e e B A HE ST

@ (AT, g R) @RI

(b) (A) T (R) I T € SR (R), (A) F w
e HA 8 | |

(0 (A) T (R) BT WY E, TR (R), (A) B

R T AT |
o

e 2024 F §Y ATAER-RRI S % ww §

ForerferRan # & a3 0

. FE e 3 aRRieh R i ga e |

2. % SRR BSF (MUETE) W Refgwe fod
HUEECUERIKCIE T

~frer o e o 1 el s
(b) FHaA1
(d) :ra‘u:rf:ﬁz
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100,

DS.TF-1-23
given .belo;xv arez1 two statements, g is labelled as | 98. 49 3 o R TTTE, Wﬁ@ﬁaﬁéﬁm (A) qem
§ Assemon( ) and the other a5 Reas R)mgrmﬂ%l ‘

. A) : T . on (R) a;{fh'iﬁm( . ?ﬁ@ﬂ% .
Assertion OGS A positive relationship atfireRed (A) : T feRpre e (TS13TMs) T
etween Human Development Index (HDI) and (he waq fawd SRl (EH.'&‘T.Gﬁ,) T TR R T
Sustamable Development Gogs (SDGs) 1‘ﬁnking of £ AT § eI e |
[ndian States. & T

(R) : The underlyi . &HROT (R) : qad g < ._3|:”§|
Reason + The ull\( crlying dimensions of SDG m@mﬁﬂ%%ﬂ%%l
arc SCLY rclate . gl
;‘:rr;g:ci_q y related to education ang health Tﬁ%ﬁﬂ ﬁﬁg’é’[ﬁ?ﬂﬁé
gelect the correct answer from the codes give . (a) (A)?@‘%,W(B)- .
. X given below : J EIE
@ (A)is true, but (R) is false, ) (&) TR a4t v & 3 R), (A) |
(v) Both (A) and (R) are true and (R) ; . S | : /
explanation of (A). (R is the correct © @ & ®) 2 & R (R), (A) T W
(© Both (4) and (R) are true, but (R) is not the wr@ﬂrlgﬂ?m%|
correct explanation of (A). ITQ"I?;‘ > fe (R)H'apf%l
@ (A)is false, but (R) is truc, @ (AT e ¥ ad 2022 &
00, Tl & gt ¥ A wErs G-I A A 2
List-l contains the names of countries, whereas N e A @(ﬁﬁﬂéﬁﬁaﬁw 3_9\1'1?;
List-II shows the Rank as remittances recejved in the o 2 | g gl ) gﬁﬁ?r FHifre 3R Hﬁl?jl
year 2022. Matck} List-T with List-IT and choose the ﬁﬁq&@quﬁﬂmaﬁﬂﬂﬁq .
correct answer using the codes given below the lists - e eIl
List-I List-II (§w )
(Country) (Rank) " ) ; 1 e
A. Mexico 1. First g ik PR ric]
B. China 2. Second C. T i
C. India 3. Third D W ’g::p 4. q-ggf
D. Philippines 4. Fourth R 5 _
H ‘ [N 5 ﬁm:?
.Codes : " s“””B G

A B C D @i Wj‘ g g
(@ 1 2 3 4 ) 3 { *211 2 i E‘g%

@ 4 1 2 3 R R e

2 3 1 4 Ui
o Lo, o & g s o g 3 R
Match List-I with List-II and choose the correct W?mmmqﬁwﬂﬁq;
answer using the codes given below the lists : eI A -

Hle] ;“'? ey " (‘;'E’J) (;019 — 23 % TN YR s
(State) ank according to expenditure !
on infrastructure 2019 — 23) Wf%"Q’TQ@?f%‘ T34 #Bal 4)
A. Maharashtra 1. First A. HER gf‘,g;:: IR
B. Uttar Pradesh 2. Second B. W {;:! 2. fedt
C. TamilNadu 3. Third C. dfiem ?‘; 3. @l
D. Karnataka 4, Fourth D. ‘EF:{WE,:, 4. =g
Codes : o N

A B C D %% oA B €D
o2 s et BTG S
®y- 47 10 2 3 :

y ©: T+ R 4
9rd. 2. 3 @ 20 Do sy
L) IS R SO SRy g e T R T T
1 i
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| qﬁa%mﬁﬁmﬁrﬁgﬁ
Which of the following statements are correct 101, N}Tjg}a agg?ﬁ é
regarding 1CT based e-Governanee 9 HIA-H HUA !
Io e-Governance  reduces  the transparency  of 1. ﬁﬂﬁﬁmﬁqﬁﬁmﬁ%ﬂﬂé%l
Government, 2. %Wﬁmﬁmw !
2. e-Governance reduces the cost of Government, 3 gmgmﬁmaﬂme%[
c-Governanee  increases  citizens input into ' $: Hﬁmﬁﬁmmﬁmél
Government, 4. ﬁﬁ?{‘{[wgﬁq
4. e-Governance increases bureaucratic Zﬂ%ﬁ?’m? 1,2 3ﬁT3
red tapism, (a) 2,3 a4 ®)
Sclect the correct answer from the codes given below : ) 2 a4 @ 2 3ﬁ1" 3 ‘
W 23and4 o (b) 1,2and3 0 wm@mmﬁﬁwﬁﬂﬁﬁﬁ%m@ﬁ%
< (©) 2and4 (d) 2and3 m@mmm@?ﬁ%ﬁ“’ ‘
Cl: :‘::Tm?}:]cho(jﬁzlc\:: its functlonz‘}from which of the 1. Hﬁﬁlﬁ | il E'E
o e
/ . The Constitution {®] 2 3#{ 311%52T Iﬁ%ﬁ
: 2. Parliamentary Laws (] ofo 3' W“ I i
| 3. Exccutive Rules and Ordérs’ ok FRRTG
‘ 4. Conventions :ﬁ%ﬁqﬂqaﬁﬁﬁqﬁwaﬁq
Select the correct anf\ver from tl’{o € godes given below : @ 1,23 aﬁ{ 4 (b) Wl i b 4
(@ 1,2,3and4 (b) Only 1 s (C) 13ﬁ'{2 ) l\iﬁtg, IR
(¢) land2 (d 1land3 : %?‘ L Lo A
Which one of the following is correctly matched 7 | 103. sk ﬁ%ﬁmwgﬁ Yoo i :\!f
Constitutional Body Constitutional | Wi%r%rrﬁaaﬁ"m'w : FI'%%ITEIT:H S0
Article 3 QFJ:@?{
(a) National Commission - 340 ‘ fﬁl{ o ETIZﬁ'IT i
for Backward Classes (a) i am‘ i S
(b) Finance Commission - 263 >a RO E - 263
(c) Election Commission - 165 )o s (c) ﬁaﬁqw ‘ - 165
(d) National Commission - 148 ! (d) @qmﬁﬁqﬁw_ 148
for Scheduled Castes W 20 N U : : E Vi AR
Identify the correct chronologmal sequence of the“ 10452 ﬂ%w ﬁﬁ
i followx}xl“lg ¢ L g%_:{m W
‘ I. Shankari Prasad vs. Umono India ‘2 @ l TP TSRS, T
2. Sajjan Singh vs. State ofga;asthan 3. JilElaS? REEEE R i e
3. Golaknath vs, State of Py Ja:b Lod W”W WWW AR
4. Kesavananda Bharati vs. State of Kerala ﬁ%ﬁﬁwwﬁﬁuﬁ’rwaﬁq R M
Select the correct answer from the codes given below : (@).3,4,2,1 (b) 1,2,3,4 e N
(a) 3,4,2,1 (b) 1,2,3,4 (c)1432 ‘ (d)3214‘
d) 3,2,1,4
©) 1432 . | | 105. ﬂ%ﬁwﬁqnﬁ 557t & o oo () o
105, j\]lvcn 'I)cl(()/\:/)aredtzz}\:o siﬁtcmcnés, one (1; )Iabelled as i Eh:\TWTUT (R)RT’WT%l
ssertion (A) and the other as Reason (R).
Assertion (A) : Article 352 of the  Indian (Aﬁ)ﬁ A FE T 352
Constitution deals with the declaration of an H?ITUT]EI I(RIE)“ a;rmjwﬁ:m““%gamma ilr Py N
feurfy T I
emergency. i
Reason (R) : An emergency may take place at any T g |
time. iy Wﬁquﬁ%u‘é‘rwa T
Sclccl(lhc conrcctgn:\g}zg fro}iﬂl “2{?0(105 given below : @ (A", g T(R) TIT*R'T%I A
(a) (A)istrue, bu is fals b A) T (R ;h;h # wd
(b) Both (A) and (R) arc truc(ar}d (R) is the correct () ;IT)@TEF{%T)%! wd T o (R) (A)
explanation of (A). :
(c) Both (A) and (R) are tryq,g but (R) is not the © (AT (R) EHT H&r g, ﬁth' (R), (A) HT @&l
correct explanation of (A). ~ TRET 72 Tt 2 |
(d)_ (A)is false, but R)istrue. | @) (AT, feg r) wrs
----------------------- * 26 * -----_"--""--'~""'°""""""“".-"
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é
i} atch List1 with List-11 ang choose the correct | 106 1‘” A m{} oy {M(Y(f Hfsre st ILFPIT ¥ = F?U
/
/

er using the codes given heloy (he ligts - oy A et e 'If"’

1 'mw: o I 70 W
5' N o o w11
]\ Lo I\‘;m‘l) A (Date or 1, aunch) {{?ﬁ ] ;ITTHI ﬁfﬁ‘]}
5. Pradhan (:“‘” was 1o May, 2016 ISl (r; ‘ ‘
ami
L Mission 2 A o orparey et - AT 1L 2016
g, dol Jeevan ! -!.\xmn 2o October, 2014 < ot e 2. HFZ 2014
C. s\\'ac.hl\ Hh.}ml ' 30 August, 2019 B. §d ‘ L - 1. 3, 2019
Aission — Gramin C. @S M| fiysr Fg.r : P A
D, pradhan :'\‘ln.nm 4. November. 2016 D. gl 3’&3@73 N 4. - 2016
Upwala Yojana ' o
X EFZ : [ |
Codes : E\ \ 8 Cr 7 p
B / T
L 3 4 I ? @ 3 4 ! :
R A 3 4 0 12 3 4
o o & ! 4 o 3 1 4
«© 2 3 1 4 OF (c) 2 i
@ 4 3 2 @ 4 32
. : gehaieht &l
'\\\, ich indicators are used in Human Development s - (Qa'é.mé') T
¥ / ads \(HD]) 9 Wﬁﬁ'ﬂTW%7
i Income level 1. HAEEX E‘%g -
Education 2. faram -
C§f1dition of environment 3 qq{a'(wa?rﬁ-?ﬁr )
4 Life expectancy : 4 Hﬂﬁﬁ’éﬁﬁaﬁﬁlmm
Select the correct answer from the codes given below : ﬁmmwﬁﬁgﬁmaﬁq
() Onlyland?2 (b) Onlyl,2and4 - (@) 192 (X (o) ¥l 234
& a »“
(¢) Onlyl,2and3 (d) Only!land4 © : 23ﬁ”€3§ @ a1 34 ,
c %aa 5 i
@ Amange the following schemes launched by the .
: T TR gRT S o Pt A @

Government of India in chronological order and |108.
choose the correct answer from the codes given

Wﬁm@ﬂﬁ?@ﬁ?ﬂ%@m@ﬁﬁw

below IR : L
|, Swachh Bharat Mission @ L. QW T e
7% 5 Pradhan Mantri Kaushal Vikas Yojana 2wyt et e AT )
3. Pradhan Mantri Garib Kalyan Yojana 3. e T RO AT
4. Pradhan Mantri Mahila Shakti Kendra Scheme 4. wuEeE At wie S A
Codes : % . > ;;
i

{4) 3,1,2,4 * (b) 1,2,3,4 (a) 3,1,2,4 '3 () 1,2,3,4 |
(© 2,1,4,3 (dy 4,2,1,3 © 2,1,4,3 Era(d) 4,2,1,3
1, Malthus argued that the population grows ina__ 109, e o for R SEiE s o e 3, :
 progression, whilce dg,rlcultural produclion/iood G{Tﬁ%?ﬁW/@@W TIfd H St & | ;
supply grows ina_______ progression. formferfian ferpeat o ﬁ Tk Tt it off & foe @ !
From the following opllons choose the correct Wﬂﬁﬁ
answer to fill in the blanks (@) il siepfired |
(8 Geometric, Arithmct?c 13\ () s, < |
(b) Arithmetic, Geon?etrlc © s, T ;
(¢) Linear, Exponentlal ) - :r
1
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111.

113.

@ 4231y

Consider the following statements with reference to
the Congress Socialist Party :

I The Congress Socialist Party was formed in
Januge§ 1934,
+ JawaharTal Nehru formally joined this party due

to his sympathy for socialism.
Which of the above statements is/are correct ?
(@)  Only2 (b) Only1
(¢)  Bothland?2 (d) Neither 1 nor2 .

tJ

Consider the following events and arrange them in

chronological order :
2
w

sy

1. Murder of Abul Fazl \gs
2. Death of Sheikh Mubatak
3. Death of Faizi e 3 @
4. Death of Daniyal (\r*;

Select the correct answer frofh'the codes given below :
@@ 2,431 (b) 2,3,1,4
© 21,43 d 3,2,1,4

Consider the following events and arrange them in
chronological order :

1. Linlithgow August Offer d \oﬂ'

2. Cripps Mission arrival in India O
3. Ramgarh Congress Session

4. Resignation letters of Congress Ministers

v,

Select the correct answer fron% t?he codes given below :

(t»)q1 3,4,2

© 3,142 (dj* 4,3,1,2

Match List-I with Llst-IIiaﬁd choose the correct
answer using the codes g1ve£n below the lists :

List-I List-IT
(Book) (Writer)
A. Hindu Polity 1. D.D. Kosambi
‘B. The Wonder That Was 2. A.L.Basham
India
C. AnIntroductiontothe 3.
Study of Indian History
D. The Early History of 4,
India

K.P. Jayaswal

Vincent Arthur
Smith

R,
i, mmmﬁ%mﬁﬁﬁ% a

111.

112.

113.

‘R

fEm AT
N
rzﬂﬂ Wﬁmﬁr@ﬁ%msﬁqﬁm

SRSl e §9 e H ¥ 5y |
mﬁﬁaﬁqwﬁwaﬁ%/%?
@ ¥@2 () I
© 1323 @ TA1TH2
ﬁw%%ﬁwaﬁqtﬁwaﬁﬁnwﬁmﬁ
W@HW
. 9 AR g
3. Gy
4, AR Y -
ﬂ%ﬁqwmﬁ@rmﬁwaﬁq
@ 2,431 0 b)) 2030154
© 2,1,4,3 »(d)‘3‘,2,1,4
'ﬁw%%ﬁwaﬁqtﬁamﬁﬁmwﬁmﬁ
e HIRT ; B
1. forferent st onreq wedra
2. fore firem o e s
3. . UG BN AREAYE
4. w0 HEGE S @
Aot few e # & et s ufie
(@ 4,2,3,1 (b) 1,3,4,2
© 31,42 d 4,3,1,2
H%ﬂrlﬁmﬁnﬁg&%aaﬁﬁqaﬂwﬁzﬁ%ﬁﬁq
T 3 T ST T Helt I e -
TEiT-1 E-11
(FeT) ()
A, g difad 1. & Prawt
B. T e an s 2. TUH 9Nm
C. WHRANIIRS 3. %t IrmEw
i1 3feem foh
D. qoreli et siwifer 4. foitiz amelt Ruyy
%< .
A B C D
@ 1 2 3 4 %;%%‘
b 3 2 1 4
() 3 2 4 1
@ 1 2. 4 3
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List-I with List-1l ang Eﬁlﬁi( Eﬂ kl
: 1008¢ ] :ﬁ)ﬂ. a;:ﬁ%r
rusmg the codes given below ﬂuLINIL T e Wn] 2 @mlgaggg ﬁ-q
fa?ﬂ

List-1 List-11 geft-1 T:ﬁ I

: (Biosphf"" Reserve (State) (‘ﬁ')ﬂlﬁ,’@ﬁaa) (=)
: Simlipal l. Kerala A. Rrrefiare LA
Nokrek 2. Odisha B ;ha}i_f :
Agasthyamalai 3. *sam . g;@uw? 3. ofEH
- Manas 4. Me g
- Meghalaya D. HT&) 4
: - O
B T : v
B 4 e BRECl D
i 4 ! () 20
; 5 6 2 4 S
e 4 o oF %
B 4 S @ 3 LI

’lder the following statements - 113. ﬁﬂw%ﬁq{mm :

Scientiﬁc in.vesti gation depends on commitment 1. St aﬁw% s gﬁa@{ﬂT &
to practical ideals. it 2 |

onesty is particularly important in science. 2 @? 7 gATHERI fé"?f‘sf okl ﬂ%ﬁqﬁ el

the correct answer from the codes given below fr fow i ﬁzﬁﬁgﬁﬁ'{ﬂﬁq :

Statement 1 is correct, 2 is unpredictable. (@) T 1 W1 R, 2 STIATRIG Tl

Statement 1 is correct, 2 is not correct. (b) @:{é{ | o e 2 Ed TR R

' Both statements 1 and 2 are correct. (c) ﬁéﬁﬁﬁ B kA

Both statements 1 and 2 are incorrect. (d) ST 1 AR 2TATE |

h of the following is the corre Brefafad
es from higher to lgower order ? W e T B ol e e
Plant Kingdom — Phylum — Class — Order 7 ‘ T E%‘T?n"tr% :
lass — Plant Kingdom — Phylum — Order P T e EFf o
lass — Phylum — Order — Plant Kingdom Cf W S S
Order — Class — Phylum — Plant Kingdom EZ; 2_ :ﬁq 2 7TUT o
HE — W‘TW

N i m -
of the following statements @, about
cological niche’” ? ik g ol & & - mﬁﬁvﬁﬁaﬁ%a* %

of single species ' bc’ecomc?s ?Sﬁﬁm%m & HETeR 1 Ry @?ﬂ 2

if the resource distribution 18

table in a habitat. ’ { WWWW'@W%'

ber of specics becomes small in ecological (b) Wﬁﬁw ferd @ Al gomem v €
che. if resources are sufficient SISTTTcraIT Sht T o &1 STTeft 2 | ] f
ominant species occupy extensive and broader (c) e SR feReerer et amaen riRerfiehrer ke
ological niche. s O S | ,

ber of species becomes large in ecological (d) ;r@ﬁﬁ; ufiRerfer @3 % TRReREE f &

e of natural ecosystem, if resources are zrﬁwu:rwh% qr Wﬁq} $i s T 2

ST 2 |
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DS.TF-1,2:
i L 2 wifere i ST afer A
‘Mt ist-1 w 1T and choose ‘ S af'[ﬂ:éﬁ-ll q
-) Mateh List-l with List-Il and choose the correct | 118, H\Eﬁ ST
answer using the codes given below the lists : ma@ﬂmmgﬁ 1:17-} )
List-1 List-I1 L = ',)
Author) Book, (@G (°' ! SR
i 4 o el 1. STsBirE fewd 3T ey
A, Lallanji 1. A Comprelensive History of A. e g
Gopal India : Thé.Delhi Sultanat Ik e 2 3 skt
: N B. geflerd 2. TERAID AED
B. Habiband 2. The Econolm ¢ Life of . ) ‘
Nizami Northern Ipdja forsredt SEE '
C. K.S.Lal 3. Early Chavf[ﬁn bynastics C. kmmwE 3. 4 ‘
: ? D, sy yH 4. (e oA T TS
O D. Dasharatha 4. History of the Khaljis ;
Sharma Y@ —
Codes : iﬂ%ﬁ A B € D
A B C b (@37 Ldg il o2
(b):, 4 3T e bl
(b) 4 3 2 1 (d) 1 2 3 4 &
2L b 119, Pl fort R A
@ 1 2 3 4 1. foem T % wfter, e fiE 3 SN
] Consider the f(ﬁéﬁr@?ﬁt&hent@g 3 e e w ?ch_cl‘ e | s _
/ 1. Kunwar Singh, Landlord\{®f Jagdishpur in 2. o TaEnht ¥ e w9 ¥ oo W@ A
Bihar, led the rebellion agaif;?é% the British. Rt B T T2 ST Y |
2. Lord Dalhousie recognise E;}ie adopted son of S S Eﬁm—?
Rani Lakshmi Baj as the heggpparent, (a)\v | 32 3 ) a1
"~ Which of the above statements is/@E corréct?? © : ) @ 7 1782
(&) Both1 and 2 (b) Only d ‘ : -
™\ (©) Only2 (d) Neither 1 nor 2 120. Teferfee foreeft anfl @ foram fsTg qom o€ st
120. / Consider the following foreign travellers and arrange W@nmaﬁ%ﬁﬁq :
them in ascending chronological order : 1
1. I-Tsing 2. mab'-ﬁ g‘g%
2. Al-Biruni O . 3. g M
3. Huentsang (Hiuen Tsang) _ 4, BEN :
4.  Fahyan (Fa-Hien) :ﬁ%mﬂqﬁéﬁﬁﬂﬁﬁ'{ﬂﬁq:
Select the correct answer from the c‘o_des given below : (@ 3,4,2,1 . (b) 2,1,4,3
(3.) 3 4 2 ] (b) 2,"'1,«14; 3 (C) 1: 21 35 4 (d) 4, 35 17 2 -
- () 1:2, 3,4 (d) 4,£1,2 121. ﬁ‘i‘cﬁmﬁqw%ﬁ?ﬁ@aﬁmm)w
. Sne i LSl SRR (R) FRTTAT R | :
iven below are two statementd)"one is labelled as| e ’ 7 ‘
Assertion (A) and the other as Rdasbn (R). iRy A): am:r%r I TG i BECECIIR
Assertion (A) : Balban made ﬁ}%government firm WW@WWI\TWW%I .
and centralised all authority in hi$ Fands. FROT (R) : T8 ST S 7 wviver stmpaet @
Reason (R) : He wanted to' protect the north-west 'QTFWWTW?JTI
frontier against Mongol invasions. L ﬁ%ﬁnma@ﬁ%waﬂtgﬁq
Select the'correct answer .fro?lthe codes given below : @ W %, ﬁﬁo (R) TIF{H 3| |
(a) (A)is true, but (R) is false. ' N ©) (A) T R) 3 T E % ®), (A)
(b) Both (A) and (R) are true, but (R) is not the T T e &
correct explanation of (A). : v ' 3 3k (R), (A) & ad
(c) Both (A) and (R) are true and (R) is the correct () &) a";\g?%?ﬁ ad § (R), (A)
explanation of (A). . y 2ltes 2 s
(d) (A) s false, but (R) is true. (d) (AT R, g (R) T
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. DS.TF-1..
ol '2\

_ ' Sfer e ST
/ u’.q Match ListI with List-Il and choose the correct | 118. ﬁ\?ﬁ-laﬁ?ﬁo{'na s T i T
/ answer using the codes given below the Jists - ngmg’!ﬂﬂwq@%w Qe
List-1 List-IT Fell-1 i
(Author) (Book) (‘;}@3’_) ) Tl
; e S0 ﬁr%ﬁﬁ-ﬁgl miﬁ’m;
A. Lallanji 1. A Comprehensive History of A ‘ feectt dcdad
Gopal India : Thé.Delhi Sultanat I ; e e ST
B. Habiband 2. The Econ(ir;;gc Life of 3 IR 2 _q.'ﬁ
Nizami Northern Ipdia fesiTet e SEARIS
s , SuE A 3. A '
. K.S. Lal 3. Early Cha%m Dynasties C. %18 ; = SIS
D : Y D, ey yE 4. REIA®S '
. Dasharatha 4. History of the Khaljis ;
Sharma EE &
Codes : éj&g i AR D ¢ 2
AlsBRacing Qe
(2)FS 4 1 ) L : 3
@l el
(b)E i ds s uitioh ot () o s
c)R ) 1 4 3 )
Ed) Vo 119, fEfeifd et ot foam e -

1, foRR T ST % STHIER, $eR e ° S o
o forsie o Aqea fopm |
2. i SR A T G R Gh T A

Consider the following statements sy
I Kunwar Singh, Landlord\{f Jagdishpur in
Bihar, led the rebellion agaﬁ’ﬁé the British.

2. Lord Dalhousie recognised,te adopted son of éﬁaﬁ\_ﬁmwﬁl
o e ; ST H & H0 o 0 R 2
ai as the hemrapparent, S : S
Which of the above statements s/ ) (a) 1M ®) !
(@) Bothland2  (b) OnyT - (©) FA2 (d) T2
™\ (©) Only2 (d) Neither 1 nor 2 120. frefafad feresf bl w fomm Hifvm qor 3= TR
120. / Consider the following foreign travellers and arrange WWW :
them in ascending chronological order : i i
1. I-Tsing 2 SEimEl Em
2.  Al-Biruni D L I i ‘li]%*i
3. Huentsang (Hiuen Tsang) 4, DI
4.  Fahyan (Fa-Hien) :ﬁ%}ﬁqnqagﬁﬁgg‘rwgﬁ'q .
Select the correct answer from the codes given below : (@ 3,4,2,1 ) 21,43
ey 24 2,01 (b) 2,944, 3 @) 1,234 (d) 14,3, 1,2
. ) 1,2,3,4 ) 431,2 121, =< e few a2, foi & o ot arfirehor (A) qo
iven below are two statementdone is labelled as H@HﬁW(R)WW%I
Assertion (A) and the other as Rdasédn (R). STfTeRerT ( A) : IAH 3 I ITET 3G S 3

Assertion (A) : Balban made l‘gé}govemment firm TROT T Wwﬁ%ﬁﬂﬁml

and centralised all authority in hi$ hands. B (R) : T8 IR oy # 50 5
Reason (R) : He wanted to protect the north-west

frontier against Mongol invasions. %\ﬁﬁﬁm ?{Eﬁﬁ%&ﬂ '

Select the correct answer from the codes given below : WEE{ H?TWﬂﬁQ :

(@) (A)is true, but (R) is false, @ (AT, g ®) T2

(b) Both (A) and (R) are true, but (R) is not the () (&) 7= (R) aH T € B (R), (A) # A
correct explanation of (A). STEAT ?B?WT% |

(c) Both (A) and (R) are true and (R) is the correct (c) (A) TI1 (R) 2HT &Y & i (R), (A) # =
explanation of (A). ) T AT 2 |

(d) (A)is false, but (R) is true. (d) (A)Tas, ﬁh?j (R) TR
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i
§ e List-1 ]wnh List-11 ang chooge
. . 10 v
7 :xr‘u\v.vcr\lqm‘l“'c codes given hefoy 1)y, hst - e,
- List-I List-1 N
(I'f.ﬂ"’.“'”) (Treatige) O
A Devana Rhatta 1. Dagy Sapng (
| e J h) g
i B Hemadrl o Patashay Madhay
b C Madhvacharya RI | haturvargen
| hintamari
% Chintamani
I n Ballal Sen L Sy Chandrika
¥
i
| Codest
f
| |
| A B C D
i .
; ‘,:'l‘. 4 3 : l
| 5
5 ;\-\{“’ ’( : 1 4
1
|
| (‘d\‘. 1 4 2 3
N gkt
B, JGiven below are two statements, one is labelled as | 123.

/ Assertion (A) and the other as Reason (R).
Assertion (A) ¢

successful,

Turkish invasion on India was

Reason (R) : There was no political unity in North
India.

DS.TF-1-23
vy Ay el =10 iy spferd ? fifar ot gfeer F
fro sy e i BT frefY et A :
fr eigl
ti\s .1 ;"
Jarel)
ity (-
‘* TG RUUR
A aHTNE
1\1 '\;1““@ R LKL oreret
. BHIAR ,
C ‘ZT?I"{T‘IE& il Fetermarfor
ICIERIN S
| : szt
H 4w
D. aaznam |
®He e ™l
A ((3 C D
(a) 4 3 2 1
b 3 2 1 4
(© 2 4 ! 3
@ 1 4 2 3

f1y &t o RUTTE, R} & T 1 (A)w
a@aﬁm(k)mw%l '
W(ﬁ% T T ST R AT |

T (R) : Wmﬁmﬁaﬁmﬁﬁ' SE
ﬁmm%ﬁwmaﬁq

Select the correct answer from the codes given below : (@) R, ﬁr‘d ®R) TS |
(a) (A)is true, but (R) is false. (b) (A) a&n (R) 2T T8 %, ﬁ‘ﬁ?ﬁ ®), (A) ﬁ E_Eﬁ
() Both (A) and (R) are true, but (R) is not the ST e T | 1
correct explanation of (A). © (A) T ®) 24 TE ¥ S ®), (A) £ T
(¢) Both (A) and (R) are true and (R) is the correct AT FETE |
explanation of (A). ' @ (A)W% 8 (R)H%cf%l
(d) (A)is false, but (R) is true,
{ 124, e it ol wey wite (@S T TE) & HE
124,/ Cansider the following statements regarding Voice of ¥ S e :
Global South Summit (VOGSS) : WO . TR hifeTg § v »
|, India recently concluded its 2" Yoice of TR o B B B LU 1 B E TES
Glabal South Summit, wﬁﬁzw%&r%
; 5 The term Global South is related to developed 2 Ww m%ﬁﬁﬁﬂﬁ'ﬁﬁ%l
i COUntTIes, | ’ ﬁﬁ%m/@( w&ﬁ%/% )
\3 Which of the above stalements is/are correct ? J 'ﬁ ] HUA
. (@) 1323
i (a) Both 1 and2 b
(b) et |
(b)y Onlyl & -
¢) Fad
¢) Only?2
o ’ (d) AdrIAE2
(d) Neither 1 nor 2
B o eecammmesammnonssas e a T " 31 i S e B

=gt
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Kohima Peace Mémorial and
/ Eco-Park™ which of the following statements is/are
correct ? W0

ﬂ'\\’ilh reference to the

(W
. lls inauguration pmx,r'nmm(\\v'm held on

'\1 arch, 2024 at Kohima, (“'

2 Ttwill be developed by South l}oua

Sclect the correct answer from the codds. iven below :

(@) Bothland2 - (b) Only1 °
(c) Only2 (d) Neither 1 nor2
With  reference to “Mobility Arrangement for

Talented  Early-professionals Scheme” (MATES),
which of the following statements is/are correct ?

1. This is a bilateral framework between India and
Australia,

|9

In this scheme Indian gra?ﬂuates (aged

18 - 30) with knowledge and §k1lls in specific
fields of study will be offered @o‘hve and work
in Australia for up to two years{™

Select the correct answer from the cod&%wen below :
(@) Bothland2 ° (b) Only 1 ‘
(c) Only2 (d) Neither 1 nor2.

With reference to the International Conference on
Nuclear Security (ICONS —2024), which of the
following statements is/are correct ?

1. This conference was held on 250 May, 2024.

2. India  has recently reconstituted an
inter-ministerial Counter Nuclgar Smuggling
Team (CNST) to strengthen the hii¢lear security.

Sclect the correct answer from the cocfs;syglven below :
(@) Bothland2 » (b) Onlyﬂw
() Only2 (d) chth(&} nor 2

ith reference to  theS_“Pirul Lao — Paise Pao’
‘ampaign, which of the followi 4 i

llowing Sare

correct ?

1. This is related to reduce forest fires and to
provide a source of income to villagers,

2. The Chief Minister of Uttarakhand launched
this campaign,

Select the correct answer from the codes given below :
(a Bothland2 °® (b) Only 1

(c) Only2 (d) Neither I nor 2 ’%ﬁ

125.

126.

127.

128.

L

Mg s e

 DS.TF-13

/gmaﬁ%/%7
ﬁaﬁ;: s 8 T, 2024 I FfEmr §

i e T

2. e e v R I S
Ry A IR

@ 13R23m () ¥l

© a2 (d) :r?ﬁl?EﬁZ

G (MATES),%W‘}WI}%@WW/&
FU TR /8 2 *\

1. WWWW%WWWW%I

2. e i v ¥ fafire T T o
et el ST (18 & 30 1S Y 3 B A I
wa@mﬁ@#aﬁtwaﬂ%aﬁm?ﬁ
ST | P

vuﬁ%ﬁqwagﬁﬁw.w‘gﬁ?: ‘

1_§ﬁt2aﬁr
FaA 2

(b) a1
(d TFA1TR2

(a)
(©

TRATY) AT ST T (ICONS — 2024) F

He 7 Freforfiad & & si-ar/e e wel 278 2

1. I WHIEH 25 WE, 2024 i AR fFr T e |

2. TG ¥ & 3 ] e A e o % frg
T STR-HATORRA W] e fereft S (CNST) 1
THieT fRar g |

1% e e et s .
(@) 1323 (b) ¥ 1
© Fad2 (d Td17d2

“fireet Tl — 9 ety AR % Tt F Rrefiafa
T - e 2

. ST Y ST o 3 ) 3 e ) o
W& 0 8 Heiftg |

2. W%Wﬁwaﬁmiﬁrm\mﬁaﬁrl

ﬁﬁummﬁﬁaﬁwaﬁq '%%‘
(@) 13R23EHT (b) ¥l E
(© 2 (d) Tar19d2
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DS.TF-1-23
consider the following gqqep Wilh et o1 35 et A freaferfird Em:ﬁ STRIOT e
the justice Party : YW reference g | 129, wfted 1 % w0 ferrer 3 Th S
. The Justice Party oppoceq - sk widte T;(W et
it a Brahmin dominaeq o ongress by ¢ calling T [ia e e {‘WUMWW
- E | 1 Banisatioy, . _,(r:} ﬂ( m‘ * %TU ) 3 W
. 2. It claimed the same Commung] e - yar fiﬁt{l’émw :
O for non- Bmlmnm as the Morle fepresentation ik Gl m 3 K
had given to Muslims, Cy-Minto reforms = n: N o E.*/’% ,
L My P o] ¢Sl EEV»FT
4 which of the above statemenyg I/are e W{;z}aﬁh Eﬂfé
' ( Only 2 L ¢ correct 2 Yarel 2 () (b) et |
@) . (b)  Only | (@) a‘—,ﬁi (d) Ad] T82
3 @ ) 3
© Both 1 and 2 (d)  Neither | ori (c) 1 3N 2
% 5 -~ N
" ;)C\‘"“dcr oy 10110\\1% statements With reference o | 130 adhd 18 W o ¥ W p!
|/ he Workers and Peasants Party : ’ feram i : & gom S
/1. The Workers and Peasants Party was formed in 1. aﬁ@mmﬁwm it TEITQTT Y
] 1927 and was given the form of an All India @a@am@mmwﬁm
Organisation. i & R F09F & siqta & s A AT
, . 2. W areft
Q 2. The objective of this party was to work within Rt _S'Hﬁ e }Tﬁm’ﬁ *AM IR
f the Congress so that it could be made a more ST G ATl SrEh |
revolution inclined party and isati M e
party an organisation of AR
the common people. Eqﬁ?ﬁﬁﬂafﬁ HT'/? AT ¢ 1
i %aa
Which of the above statements is/are correct ? @ FA2 ,","f"’. ®) Fdr1 TE2 -
(@ Only?2 (® Only1 * © 1eR2dE @
(c) Bothland2 (d) Neither 1 nor 2 “ § ﬁ
i 131, Frifefa Tl T ﬁaﬂaﬁﬁmﬁmg’% AT
| 131.] Consider the following events and arrange them in Fraftud IV :
f / chronological order : T e dhEr TERIGEH %g%l ‘ ’
], EastIndia Association EfE 5. AyHe sfead v e o {
2. National Indian Association (== 3. sfemmEEEd :
3. Indian Society 4, Efead TEREE
4, Indian Association ;ﬂ—%ﬁqqqa&—{ﬁﬁgﬁwﬁﬁq .
Select the correct answer from the codes given below : @ 1,234 (b) 2,1,4,3
@ 1,2,3,4 ¢ (b) 2,1,4,3 © 12,4310 @ 1,3,2,4
(€ 1,2,4,3 d 1,3,2,4 o W

e o, :
|32). ‘onsider the following cvents and arrange them in|132. frfafaa E{E:[r:?}} ® fEr fism T = oad
correct chronological order starting from the carliest HIETTIRA § Ao I, T T8 | et 3111‘@1‘1

‘1‘1
to the last activity : Tfe amw ™
I, Royal Indian Navy Revolt a0 1. e e e ferse
2. Announcement of Cabinet Mission =) ) 7. Ffere g A e
) 3. Formation of Interim Government 3, ST TR T TS
4. Arrival of a UK Parliamentary Delegation in 4, Torfew dedi wfafiRriee @ feeet  smm
el o below ~frer e o g 4 et s g
Select the correct answer from the codes given e (@ 2,413 (b) 4,2,1,3 L
) 2,4,1,3 by 4213 il
Ec; 4,3,2,1 @ 41,23 7 @, A3%l @ 4’1’2’3 %
_______________________________________________________________ P 2 |
1
< PITRRNS LR e
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7 by the Indinn Constitution under Atticle 19 9

Which of the following frecdoms 1&@ guaranteed | 1

(W) Froeedom to practise any trade or profession

(b)  Freedom o move freely throughout the country

(©)  Freedom 10 assemble peacefully and without
arms

W) TFreedom 1o own, ‘acquire and  dispose of

property 134.

Given below are two lhicmcms one is labelled as

Assertion (A) and the other as Reason (R).

Assertion (A) @ According to_the Constitution of

India, the same pcr‘ion' annotYunction as the

Govemnor of two or mote 911 1c same time.

Reason (R) : Article 153 of lhc Indian Constitution

states that there shall be a Governor for each State.

Select the correct answer from the codes given

below

(@) (A)is true, but (R) is false.

(b) Both (A) and (R) are true and (R) is the correct
explanation of (A).

(¢) Both (A) and (R) are true, but (R) is not the
correct explanation of (A).

(d) (A)is false, but (R) is true. *

Which one of the following pairs irrectly 135.
matched ?

()  Altering the name ofy — Power of a State
a State i3 Legislature
(b) Creating a new Statg — Power of Parliament
(c) Equality before ¢+ — Guaranteed to both
Law £\ citizens and
:'-wj non-citizens
(d) Equality of *.j — Guaranteed only to
opportunity in publlc Indian citizens e
employment
Match List-I and List-Il and choose the correct
answer from the codes given below the lists :

List-I List-IT
A. Consolidated Fund of India 1. Article 266 ¢
B. Finance Commission 2. Article 360
C. Financial Emergency 3. Article 280
D. Comptroller and Auditor 4. Article 148

General of India

Codes :
A B C 5P
(@ 1 2 3 74
v 1 & 2 !.,«‘;4
(c) 3 1 2ty EE
d 4 1 3N ézéﬁ

Which of the followm[, ;;rc envisaged by the Right

against Exploitation in ghd Constitution of India ? 137.

1. Abolition of unlouchablhly

2. Prohibition of human trafficking and forced
labour

3. Prohibition of employment of children in
factories and mines

4. Protection of interests of minoritics

Sclect the correct answer from the codes given below ¢

(1) land4 (b) land2

(¢c) 2uand3 » (d) 3and4

136.

Cowp

DS.Tr.

123

Prerfefad 3 T -
A
il el ST ST ST A
& @W“m@iggﬁiﬁﬁ-
mézsmnﬁm 2 T & T Ty

o
mﬁwmwm i
Waﬁw IR, T 5
aﬁm%\) a@mlﬁ’ﬁ%mﬁ
:&Tﬁmmgﬁw%w 153 3 7 gy
mﬁ%@mm%@@mmmmr \
A 5%
R
8 Eﬁ; o (R) aF @ € 3 R), (4) gy
EaGl|
© m(ma’rmé’r% g (), (4) F g
ST TF BT E |
@ (A)TEAE, %Fcf(R)HE?f%l
frerferfiea i & -3 S 1 T Wel T 8 2
@) FETsEHTH - T fora-Hed i wifs
EGREll LN
(b) TR - Hae i vifth
TTOHT AT m@ﬁtmaﬁ%
; ¥ E
bl [RIEEIE IR

T
@ AR T~ hadl A o AT &
FEm A EHd  faughia e

WIﬁwn@@maﬁﬁqﬁm%ﬁﬁq

'-nqwmwﬂwu‘aﬁwaﬁq
mﬁ Teit-11
e bt e ffer 1. TR 266
ferer ermim 2. 3TTEE 360
ferefier smTuTaeRTer 3. 35280
A % TR T 4. ITHT 148
TR et

FT : ; :

AL B CEREDS N
(@)1 R ety

(b)iis 1 53 i g

(€)i7i3eg™ A D iy

() R S e T

f.ﬂu?ﬁaﬂﬁmﬁsﬁww%ﬁ@m%mﬁﬁ'-.
feforian 3 & reeht weerm s 2 9

L STCSIAT T 3T

2. I 98 SR 39 ST o1 1 e

3 wmaﬂt@mﬁﬁaﬁraﬁmaaﬁmﬁ&v
4. STeqEEHeh % fdt ot e

:ﬁ%ﬁwzag? ¥ T I :

(@), 134 (b) 132

o) 23¥R3 (d) 334
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138 According to the
fiscal pollcy resp
undertake in Tes|
disruptions ?

Economic Survey, 2022 - 23, what

onse

ml ¢ did the Gove mment of India
Se 1o the ¢ aggravated plolwl supply

138.

1. De
~ ) 2. In ‘;'L(an\ food and fertiliser subsidics
. - creas )
ng taxes on fuel and imported products -

. Reducing
£ tixes on fucl X .

a1 SO ~
products and certain imported

Select the correct answer fron
(@) Only2 (b) Only3

(¢)  Only1 (d) None of the above
Match List-1 with List-1l and choosc the correct

answer using the codes given below the lists :
List-1 List-11
(Social Security (Beneficiary’s
A. Pradhan Mantri Shram 1. B iary’
rad ¢ 2 . encficiary’s
‘ Yogi Maan-Dhan Yojana choice Y
O B. Pradhan Mantri Jeevan 2. %55 -%200
i
C. Pradhan Mantri Suraksha 3. %436
Bima Yojana ' PERVSE
D. Atal Pension Yojana 4.
(a)
(b)
(c)
Given below are two statements, one is labelled as
Assertion (A) and the other as Reason (R). | 140.
Assertion (A) : Development is being defined as
Reason (R) : Growth in per capita income is not a
sufficient measure of development.
Select the correct answer from the codes given

'J)

1 the codes given below :

139.

T 20 per year

@%?s
Gk

wr

l\)l\J—-bJ;)
LN N SH SN,

— B w—=n
W= hAhrg

D,  f > i .
Programme) Contribution)
Jyoti Bima Yojana per month

Codes :
(d)
improving living standards and welfare.

below :

(a) (A)is true, but (R) is false. ’ ‘

(b) Both (A) and (R) are true, but (R) is not the
correct explanation of (A). 1k

(c) Both (A) and (R) are true and (R) is the correct
explanation of (A).

(d) (A)is false, but (R) is true.

Consider the following cvents and arrange them in
correct chronological order starting from the earliest

to the last activity :
1. Pradhan Mantri Gramodaya Yojana

2. Rural Employment Generation Programmc}a
3, Prime Minister Rozgar Yojana

4. Valmiki Ambedkar Awas Yojana

Select the correct answer from the codes

below :

141,

141,

given

) 1,2,3,4

@
.(b)

@

DS.TF-1-23

ST, Sea At/ A
a5 FAE, %231@23% ;}@q;ﬁrraaﬁmﬁr

3
Tl 3 T

4 T(meb? T

A a}@é@vﬁﬂfﬁ?‘qﬂj‘;’my :

3 y .

ﬁﬁqnﬂ@ﬁ]ﬁ“ﬁmg{mﬁm

(a) Had 27 ®) @é&ﬁﬁ@ﬁ:ﬁﬁ '

(© Fae IO '(dmﬁm) N ¥ i e

Tﬂ]ﬁ@-llawaﬁq_ B

g : R B
(HWTﬁﬁ;g‘r‘Q‘ﬂ ) % &

= £ W—m 1 C

A. %memzﬁ‘lﬁ ElG NN :

' ; 2. ¥55-%20

B, wwﬁm sifer o

o g g 3. z436 T

5 ?TEW;OW 4. T209RTaE

Y D

(@) -3 g ol 4

(b 1 DN, 4 OrH)

(©): "2 ki3t ind 1 Gk

(@) 2w L R

% 2 oo P &, ﬁ:faaqaaaﬁarﬁm:rm)w

zraiﬁm(R)sﬁ's'r TR

. TR (A) ﬁmaﬁeﬁaﬁrmaﬁzwﬁaﬁs{

%mﬁw&mﬁﬁmw%l

S HRT (R) : qﬁr&:ﬁﬁmﬁaﬁﬁmaﬁmm

g

ﬁﬁqwmﬁﬁaﬂwaﬁq |
%’%ﬁ(l{)ﬂﬁﬁ%l

(A) R) T wE R R), (A) ﬁﬂ%ﬁ

ST e FT 2 |

(A) aeﬁ’"{R) aﬁq‘r & ¥ 3T (R), (A) T T

ST

) (A)W %H(R)Hé’rél

Wﬁm&?ﬁﬁﬁq Eﬁ@%@fﬁéﬁ?{mﬁaﬁ
Tfafater qe |

1 mma%mﬁamﬁw

2. OO ISR Yo shrishy

3. T TSR ST

4, aATCHITR STISRT ITETE ASHT
- Fr e e e 7 & w s

(a) 3’ 2’ ]’4

(b) 1,2,3,4
(©)' 2,3,4,1 2,1,3

G Scanned with OKEN Scanner



Which of the following is/arc stated in the

7442 \Which of the following isfare stated i
/Congstitution of India ?
1. The President shall not be a member of either of

the Houses of the Parliament.
.

2. The Parliament shall consist of the President
and both Houses;

Select the correct answer from the codes given below

(@) Only 1 (b). Neither 1 nor2 gl‘g%

/f\. (¢) Bothland2 ¥ (d) Ohly2

™
Consider the following statement6¥}

An Amendment to the Constltug \K of India can be
initiated by the : f" ,

. LokSabha . 2 Rajya Sabha

3. State Legislatures 4.  President of India
Which of the above statements is/are cotrect ?

(@ 2,3and4 (b) Onlyl

© 5L2ad3 (@) land2?

144.y Which of the following are the functions of the

Election Commissioner of India ?

- Conduct of elections for the posts-6f the Speaker

OA and the Deputy Speaker of | fhig Lok Sabha and
Deputy Chairman of the Rajya v,Sjabha

2. Conduct of elections oT 4 the
iy
/\3 Corporations and Mun1c1pa11t1es

Deciding on all doubts and d1§putes arising out of

Municipal

the above clections. ™4
Select the correct answer from the codes gfven below :
(a) land3 (b) 2and3
¢) land2 (d) None of the above o
hich one of the following is not correctly
/ONatchcd ?

Ashok Mehta — Panchayati Raj

Committee Institutions
(b) Santhanam Committec — Panchayati Raj

‘ *fi‘lpances

(¢) G.V.K. Rao ~ lanning at the

Committece (Block Level °
(d) Dantwala Committee  — (Rdral Credit

™J
o g

Which one of the followingrjs not correctly
matched ?

(a) Article 156 -
(b) Article 155 -
@ (c) Article153 -
(d) Article 154 -

Term of the Governor
Removal of the Governor
Office of the Governor ©

Executive Authority of the
Governor '

%Wﬁﬁqﬁ@ﬂﬁﬁwmﬁ%ﬁ9
142, WA Wm%w,ﬁwwwﬁml
ﬁmmgﬁﬁﬂﬁmﬁm
@ (b) TALITE2
© 123 @) 2
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Wlth‘ reference to (he Age of Consent
consider the following statements :
1.

Act, 1891

It was Behramji Malabari, o p
from  Bombay,
legislation,

arsi reformer

who  advocated this

for

a8

2 The Act was supported by the extremist wing
led by Bal Gangadhar Tilak,

Which of the above statements is/arc correct ?

(@) Bothland?2 (b) Only 1

(©)  Only2 (d) Neither 1 nor 2

l'f 4 N \“ e o R

/l S. /.u\ en .bdm\ are two statements, one is labelled as
{ " Assertion (A) and the other as Reason (R).

\ . . .

Assertion (A) : Shivaji had to face opposition from
the big Deshmukhs.

Reason (R) : These Deshmukhs were not in favour
of an independent Maratha State and wanted to
remain as feudal lords of Bijapur.

Select the correct answer from the codes given below :
(@) (A)is true, but (R) is false.

(b) Both (A) and (R) are true, but (R) is not the
correct explanation of (A). °

Both (A) and (R) are true and (R) is the correct
explanation of (A). I%%%

(c)

koo

(d) (A)is false, but (R) is true. s

Which of the following reasons caused catastrophic
coral bleaching and mass -n the
Andaman and Nicobar Islands ?

(a)

O

Decrease of temperature by 4° C in the Indian
Ocean

(b)
(¢)

Heavy marine pollution

Increased industrial activities in the coastal
regions

Increase of 2° C temperature in the Indian
Ocean

(d)

150. Consider the following statements with respect to

Ashoka :

I, The definition of Dhamma given by Ashoka is
taken from “Rahulovada-sutta”.

2. In the 14th year of his coronation, Ashoka
appointed a new type of staff, called
Dhamma-mahamatras,

150.

> (&)

Which of the above statements is/are correct ?
(a) Only2 (b) Only 1
(c) Bothland2 (d) Neither 1 nor 2
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148.

149.
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